ENGLISH PAPER 1
(LANGUAGE)
| (Maximum Marks: 100)

(Time allowed: Three hours)
(Candidates are allowed additional 15 minutes for only reading the paper.
They must NOT start writing during this time.)

Attempt all four questions.
The intended marks for questions or parts of questions are given in brackets [ ].
(You are advised to spend not more than 45 minutes on Question 1, 55 minutes on
Question 2, 30 minutes on Question 3 and 50 minutes on Question 4.)

(You should begin each answer on a fresh page.)

- Question 1

Write a composition (in approximately 400 — 450 words) on any one of the following
subjects:

(You are reminded that you will be rewarded for orderly and coherent presentation of
material, use of appropriate style and general accuracy of spelling, punctuation and
grammar.)

(@) Recently, you travelled to a place you found peaceful and rewarding. Describe the
place, the weather, the people and the local activities that make this destination
particularly attractive.

(b) Narrate an experience when you took on a responsibility in your school that you
usually would not, and you were pleasantly surprised at the outcome.

(c) “If winter comes, can spring be far behind?” Express your views on this statement.
(d) Solitude.

(e) Students should be allowed to use electronic gadgets in the classroom. Argue for
or against this proposition.

(f)  Write an original short story that begins with the line:

The lone young man who sat hunched on the park bench had an unusual gleam in
his eyes.

125]
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Question 2

(@ As the Secretary of the Creative Arts Club of XYZ School, you organised an
inter-school drama competition. Write a report for the school magazine in not more
than 300 words, detailing the success of the event based on the following points:

Date, time and place — objective of the event — inauguration — schools involved —
judges invited — response of participants — reaction of audience — plan for similar
events in future.

(b) As a member of the Student Council, you have been given the responsibility of
arranging for a career guidance workshop. Write a proposal in not more than
150 words, stating the steps you would take to make the workshop a success.

Question 3

Answer sections (a), (b) and (c).

(@ In each of the following items, sentence A is complete, while sentence B is not.
Complete sentence B, making it as similar as possible to sentence A. Write
sentence B in each case.

Example:

(0) (A) As soon as the bell rings, the children run out to play.
(B INGBOONEE .. i iesss savsonssboivassamsneraises
Answer: (0) No sooner does the bell ring than the children run out to play.

1 (A) When he returned, we asked him many questions.
(B) | BRE - C eceube e
2 (A)  He arrived and the crowd went hysterical with joy.
B BRI 3 St ws s e kom pesi e s
3 (A)  The bus service has been interrupted by floods.

(BY | FlIonde.. Dk o st s sessniasssors sasi miiaisd

4 (A) This scenery is breath-taking.
B, HOW i soimvidnikamesipeasgaiunrai s mue

5 (A)  You are entitled to a discount as long as the offer lasts.
55 T e RN RO I

6 (A) He is so tall that he cannot enter through this door.
(B) THeiS100. ). v cosonnngs toipesn snevsunnsiimmmiessng

1 (A)  The doctor said to him, “Drink at least three litres of water e\r;ery
day.”

(B) Thedactoradviged......i . cvan i

[20]

[10]

[10]
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(®)

(©)

8 (A)  Sunita is the best debater in our team.

o 1 - P S
9 (A)  Not only did he score a century but also took three important
wickets.

P 07 L R 1 S e e B
10 (A) Iamsorry I am unable to accompany you.

S L e S S
Fill in each blank with a suitable word. (Do not write the sentence.)
1 The antique furniture was sold an auction.

The tickets were sold within an hour.

I realized I had walked a trap, but it was too late.

She had walked two hours before she realized she was lost.
Can he take ___ the additional responsibility?

She takes her mother in all her mannerisms.

Neha turned a new leaf after the incident.

I did not expect so many people to turn for the conference.

o o0 3 O Lth B W

The students brought __the first issue of their magazine.
10 M(;Ngli wasbrought by wolves in the jungle.
Fill in the blanks in the passage given below with the appropriate form of the verb
given in brackets. Do not write the passage but write the verbs in the correct order.
When Albert Einstein (1)(be) three years old, his parents
(2)(be) very worried. He (3)(seem) intelligent, but had not
spoken a single word. They (4)(take) him to many doctors who
(5)(say) that they (6)(find) nothing wrong with the child.
One day, at the dinner table, Albert suddenly said, “The soup (7)(be)
too hot.” The shocked parents (8)(ask) him why he (9)(remain)
silent for so long. The young child solemnly replied, “Everything
(10)(be) in order until now.”

[5]

(5]
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Question 4

Read the passage given below and answer the questions (a), (b) and (c) that

follow:

)
@
)

(4)
(5)
(6)

(7)
(8)

©)

(10)

(11)
(12)

(13)

My job as the District Veterinarian in Darrowby, Yorkshire has thrown up some
interesting moments. 1 was driving up to Pawson’s sheep farm one morning,
when 1 saw this rare sight.

I suppose it isn’t unusual to see a man pushing a pram in a town, but on a lonely
moorland road this scene merits a second glance. Especially when the pram
contains a large gray dog. I drew up beside them and stopped. -

I looked at the pram, ancient and rusty, and at the big animal sitting upright inside
it. He was a cross-bred greyhound, and he gazed back at me with unruffled
dignity. I couldn’t help but admire his healthy and happy disposition.

“Nice dog,” I said.
“Aye, that's Jake.” The man smiled, introducing himself as Roddy.

That same evening, about eight o’clock, the doorbell rang. I answered it and
found Roddy on the front doorstep. Behind him, stood the ubiquitous pram. One
look at the prone dog warned me that something was terribly wrong.

I threw the door wide open. “Bring him in.”

I grabbed the animal round the middle and we lifted him onto the table. I watched
in disbelief as the huge form lay there. There was no fight for breath, he was
unconscious. His pulse was rapid and feeble, yet he didn’t breathe.

Understanding the symptoms, I said, “Roddy, he is choking. I'm going to have a
look at his throat.”

I pushed Jake’s jaws apart, depressed his tongue with a forefinger, and shone my
torch into the depths. He was the kind of good-natured dog who offered no
resistance as I prodded around. I shall always be thankful that at that very instant
the dog coughed, opening up the cartilages of the larynx and giving me a glimpse
of the cause of all the trouble. There, beyond the drooping epiglottis, I saw for a
fleeting moment a smooth round object no bigger than a pea.

“1 think it’s a pebble,” I gasped. “Right inside his larynx. I'll have to get it out.”

I seized a pair of scissors and clipped away the hair from the ventral surface of
the larynx. I dared not use a general anesthetic, and therefore I infiltrated the area
with local before swabbing with antiseptic.

“Hold his head steady,” I said hoarsely, and gripped a scalpel. I cut down through
skin, fascia, and the thin layers of the muscle until the ventral surface of the
larynx was revealed.

10

15

20

25

30

1220-801A



(14) And there it was. A pebble right enough—gray and glistening and tiny, but big
enough to kill. 35
(15) 1 had to fish it out quickly and cleanly without pushing it into the trachea. I
leaned back and rummaged in the tray until I found some broad-bladed forceps,
then I poised them over the wound. Great surgeons’ hands, I felt sure, didn't
shake like this. -
(16) I clenched my teeth, introduced the forceps, and my hand magically steadied as 1 40
clamped them over the pebble.
(17) 1 didn’t breathe at all as I bore the shining little object slowly and tenderly
through the opening and dropped it with a gentle rat-tat on the table.
(18) “Is that it?” asked Roddy, almost in a whisper.
(19) “That’sit.” Ireached for a needle and suture silk. “All is well now.” 45
"(20) The stitching took only a few minutes and by the end of it, Jake was bright-eyed
and alert, paws shifting impatiently, ready for anything.
(21) He seemed to know his troubles were over.
Adapted from: James Herriot’s Favorite Dog Stories
(@ (1) Given below are four words and phrases. Find the words which have a [4]
similar meaning in the passage:
(1) . deserves
(2) undisturbed
(3) being unable to breathe
(4) wet and shining
(i)  For each of the words given below, write a sentence of at least ten words 4]
using the same word unchanged in form, but with a different meaning
from that which it carries in the passage:
(1) middle (/ine 16)
(2) wound (line 38)
(3) introduced (/ine 40)
(4) well (line 45)
5
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(b)  Answer the following questions in your own words as briefly as possible:
(i)  What was unusual about the pram on the moorland road?
(i) How did the narrator know that the dog was choking?
(iii) Describe how the narrator found the cause of the choking?

(iv) What preparations did the narrator make before the surgery?

(c) Summarise how the narrator removed the pebble and saved Jake’s life.
(Paragraphs 11 to 19). You are required to write the summary in the form of a
connected passage in about 100 words. Failure to keep within the word limit will
be penalised.

2]
2]
3]
2]

(8]
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ENGLISH PAPER 2
LITERATURE IN ENGLISH
(Prescribed Textbooks)
(Maximum Marks: 100)
(Time allowed: Three hours)

(Candidates are allowed additional 15 minutes for only reading the paper.
They must NOT start writing during this time.)

Answer one question from Section A and four questions from Section B.
In Section B choose questions on at least three textbooks which may include EITHER
Shakespeare’s The Tempest OR Bernard Shaw'’s Candida
Note: You are required to select guestions on one play only,
EITHER The Tempest OR Candida in Sections A and B.
The intended marks for questions or parts of questions are given in brackets [ ].

SECTION A

(Answer one question)
THE TEMPEST — Shakespeare

Question 1
Choose two of the passages (a) to (c) and answer briefly the questions that follow:
(a) Prospero . This blue-eyed hag was hither brought with child,
And here was left by th’ sailors. Thou, my slave,
As thou report’st thyself, was then her servant,
And for thou wast a spirit too delicate
To act her earthy and abhorr’d commands,
Refusing her grand hests, she did confine thee,
By help of her more potent ministers
And in her most unmitigable rage,
Into a cloven pine.....

(1) What leads Prospcro to talk about the ‘blue-eyed hag’? (1]

'(ii) Why was she brought to this island? [2]
(iif) ~ What account do we get of Ariel’s suffering in the cloven pine? Who had [2]

saved him and how?

This Paper consists of 7 printed pages and 1 blank page.
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(iv) How does Prospero describe the hag’s son?
(v) What does Prospero threaten to do to Ariel now? What effect does his threat
have on Ariel?
(vi) Give the meanings of the following words in the context of the passage:
abhorr’d, clmlren
(b) Caliban I prithee let me bring thee where crabs grow,
And I with my long nails will dig thee pig-nuts,
Show thee a jay’s nest, and instruct thee how
To snare the nimble marmoset. I’ll bring thee
To clust’ring filberts, and sometimes I’ll get thee
Young scamels from the rock. Wilt thou go with me?
(1) To whom is Caliban speaking these lines?
(i1) Briefly describe the circumstance under which he had met them.
(111) ~ Who does he think they are? Why?
(iv)  To which other person had Caliban shown such a slavish attitude? What
had the result been?
(v) How do his present listeners respond to his words?
(vi) ~ Give the meanings of the following words as they are used in the context of
the passage:
snare, marmoset
(¢) Ariel Thy thoughts I cleave to. What’s thy pleasure?
Prospero :  Spirit, we must prepare to meet with Caliban.
Ariel Ay, my commander. When I presented Ceres
I thought to have told thee of it, but I fear’d
Lest I might anger thee.
Prospero *  Say again, where didst thou leave these varlets?
(1) For whom is the term varlets being used?
(i1) What comical behaviour of theirs does Ariel narrate now?
(ii1) Where had these people been going? Why?
(iv) Where did Ariel leave them eventually? What did they do then?
(v) What does Prospero tell Ariel to do? Why?

[2
[2

1

(1]
[2]
(2]
(2]

(2]
[1]

1]
2]
(2]
[2]
[2]
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(vi)

Question 2

Give the meaning of the following words as they are used in the context of
the passage:

cleave, varlets

CANDIDA — George Bernard Shaw

Choose two of the passages (a) to (¢) and answer briefly the questions which follow:

(a) Morell

Lexy

(thoughtfully) Hm! Time for him to take another look at
Candida before she grows out of his knowledge. (He
resigns himself to the inevitable, and goes out).

Lexy looks after him with beaming worship.
Miss Garnett, not being able to shake Lexy, relieves her
feelings by worrying the typewriter.

What a good man! What a thorough loving soul he is!
(He takes Morell’s place at the table, making himself
very comfortable as he takes out a cigaret).

Proserpine . (impatiently, pulling the letter she has been working at

Lexy

(i1)
(iii)
(iv)

(v)

(vi)

% off the typewriter and folding it) Oh, a man ought to be
able to be fond of his wife without making a fool of
himself about her.

(shocked) Oh, Miss Prossy!

Who is Morell talking about? How does he react when he gets to know
about the arrival of this person?

What advice has Morell given Lexy about marriage?
What does Proserpine say further to express her displeasure?

When Lexy expresses unhappiness at Proserpine’s feelings against Candida,
how does Prossy defend herself?

Judging by Lexy’s disbelief, how does Proserpine condemn men’s ideas
about women?

How does Lexy voice his regret then?

(1]

[1]

2]
2]
2]

2]

1]
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(b) Marchbanks

Proserpine

(stopping her mysteriously) Hush! 1 go about in search
of love; and I find it in unmeasured stores in the bosoms
of others. But when I try to ask for it, this horrible
shyness strangles me; and I stand dumb, or worse than
dumb, saying meaningless things: foolish lies. And I see
the affection I am longing for given to dogs and cats and
pet birds, because they come and ask for it. (Almost
whispering) It must be asked for: it is like a ghost: it
cannot speak unless it is first spoken to. (4¢ his usual
pitch, but with deep melancholy) All the love in the
world is longing to speak; only it dare not, because it is
shy! shy! shy! That is the world’s tragedy. (With a deep
sigh, he sits in the visitors’ chair and buries his face in
his hands.)

(amazed, but keeping her wits about her: her point of
honor in encounters with strange young men) Wicked
people get over that shyness occasionally, don’t they?

(1) Where are Marchbanks and Proserpine?

(i) How does Marchbanks offend Proserpine?

(iii) What are Marchbanks’ ideas of love?

(iv) What is ‘like a ghost’? Why has he used this reference?

(v) What does Marchbanks tell about his shyness to Proserpine?

(vi) Does Marchbanks agree with Proserpine when she says that wicked people

do not feel shy?

(¢) Marchbanks

Candida

Burgess

[Convulsively] Onions!

Yes, onions. Not even Spanish ones: nasty little
red onions. You shall help me to slice them. Come
along.

[She catches him by the wrist and runs out,

pulling him after her. Burgess rises in
consternation, and stands aghast on the hearth-rug,
staring after them.)

Candy didnt oughter andle a hearl’s nevvy like
that. Its goin too fur with it.

[1]
2]
2]
[2]
[2]
1]
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(i)  Why is Marchbanks disgusted by the onions? [1]

(i) Why had he been similarly agitated a little earlier? 2]

(ii1)) How had Candida responded theﬁ? . [2]

(iv) Why is Burgess shocked? [2]

(v) What does he get to know about Marchbanks soon? [2]

(vi) Why does Morell appear disinterested? [1]
SECTION B

(Answer four questions on at least three textbooks which may include EITHER
The Tempest OR Candida.)

THE TEMPEST — Shakespeare

Question 3

Referring closely to Act IV, scene i:

(a) Describe the blessings showered by Ceres and Iris on Miranda and Ferdinand.  [8]
What is the significance of these blessings?

(b) What did Prospero tell Ferdinand just before the masque? What did he emphasize  [6]
and how did Ferdinand answer him?

(c)  What do you conclude about Prospero from the events that occur in the act? 16]

Question 4 [20]

Prospero refers to Caliban as “A devil, a born devil”. In this context, evaluate the
character and role of Caliban in the play.

CANDIDA — George Bernard Shaw

Question 5

Referring closely to Act III of the play Candida:

(a)  Describe the conflict between Marchbanks and Morell regarding Candida. (8]

(b)  Describe the auction that Candida initiates. Why do you think she terms it an [6]
auction?

(c)  What is the reason for the choice made by her at the end of the play? [6]

1220-801B Turn over



Question 6

In the play Candida, Shaw presents Candida as an unconventional woman. Discuss.

THINGS FALL APART — Achebe
Question 7 '
Referring closely to the events, answer the following:

(a) How is the Church established and what is the role of the white men in establishing
it?

(b) Why does Nwoyi secretly become attracted to religion of the missionaries? What
was his father’s reaction?

(¢)  Which circumstances had led to the suicide of Okonkwo?

Question 8

How is the story about why mosquitoes buzz around people’s ears relevant to the novel?

Question 9

“His whole life was dominated by fear of failure and of weakness.” Do you think this is
true of Okonkwo? Give your views with reference to the novel.

CONTEMPLATIONS
Question 10

Referring closely to the essay ‘My Visions of India’, answer the following:

(a)  Relate the first and second vision of Dr. Kalam.
(b)  What does he say about his third vision?

(c)  How does Dr. Kalam co-relate his message with the message of J. F. Kennedy?

Question 11

Referring closely to the essay On being Idle, discuss how the writer treats a light subject
with a serious message.

Question 12

In the essay On the Decay of The Art of Lying, what makes Mark Twain argue that
“the Lie, as a Virtue, A Principle, is eternal”? According to Mark Twain, what is a silent
lie? What example does he give to demonstrate a silent lie? Why does he oppose injurious
truth and injurious lying?

[20]

(8]

[6]

(6]
[20]

[20]

8]
[6]
[6]

[20]

[20
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ECHOES
Question 13

Referring closely to the short story B. Wordsworth:

(a)  Describe the interaction between B. Wordsworth and the young narrator.

(b)  What did the narrator learn from his friend?

(¢) Do you feel that B. Wordsworth was an escapist? Give reasons for your answer.

Question 14

How does Roald Dahl depict the theme of obsession in his short story, The Sound
Machine?

Question 15

How successful was the writer in bringing out the protagonist’s innate goodness in the
short story, Salvatore?

REVERIE
Question 16

Referring closely to the poem Dover Beach:
(a)  Describe the moonlit scene described by the poet at the beginning of the poem.

(b) How does the poet introduce the note of melancholy and disturbance? In this
context, what does he say about Faith?

(¢)  What does the poet say about the world in which he finds himself? What is the only
hope left for mankind?

Question 17
How is the power of the Music Makers brought out in We are the Music Makers?

Question 18

The poem John Brown presents two attitudes to war. Describe the two attitudes. Which
one do you sympathise with? Why?

[8]
[6]
[6]

[20]

[20]

(8]
[6]

[6]

[20]

[20]
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BENGALI
(Maximum Marks : 100)
(Time allowed : Three hours)

(Candidates are allowed additional 15 minutes for only reading the paper.

They must NOT start writing during this time.)

— — ———————— — — ————— ——— — — — — —— —— ——— — —— — —

Answer questions 1, 2 and 3 in Section A and four other questions from
Section B on at least three of the prescribed textbooks.

The intended marks for questions or paris of questions are given in brackets [ ].

— e e S S s S S S S S S S S e — — — — — — —— — — — — — — — — —

SECTION-A
LANGUAGE - 50 MARKS

Question 1

Write a composition in approximately 400 words ii‘l Bengali on any ome of the

topics given below :

fefERe o e asih Ratra Bsia @ 8oo Wi @@ FH (@74

(i) W 9% Rrre Freves I e, 39 w9l ofF seeifes o St aE 50a 6ot
Ol Wed ITAZ |

(i) “OECFT AT TR R — SCesa 79|

(iii) ‘47" (Speed)

(iv) ‘“ore7fas eyt (Expectation) SSITAA SHAl I0F (O — AT 0% I Reors
COTIIE TETE Al |

(v) T eReard O weriess (rdl AR | 99 TR, O geld ¢ TR F o
T I Y WA FF — (OHIF TSAS AT I

(vi) fraffe @ m o3 REem B onfes ot @y
(a) 94’ (Happiness)
(b) R&« (Immersion)

[20]
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Question 2

Read the passage given below carefully and answer in Bengali questions (i), (ii),

(iii), (iv) and (v) that follow, using your own words :

FrafEfas a5 ©iF Siw 20T e SEm (1), (i), (iii), (iv) 93 (v) geafm e
wie | TwgefE Mres et el igay ¢

A=Y SR B AT 2w o) fof S 51 42 SEEereT | A whares
il 51 Aitwe RfeBree | &R 797 T cifersm oea gfeiaz < o off
‘B i’ Sicaiem 21 20 | $F @9 S T8 Sl «feta @R IE & R
T B #iTa T O© siww Taved | [ 5o Fares 4, Ful e S=emems 71
rete Sl of Tef Tt T A | ol fowaferem, ‘ oy, =199 S0 931 e 3
T eig S Gt e egfes sog azd 71 — (eI Tame =4, (e
et wfSretsta R ; CMweda stSlgea Ty Frens iz $94i3 2 @2 51-+W
SR Ses |

wreitfa Ffere swag s @b Jml «WT o= A0S | S 961 GRrE 9T 5
Teff g GBI (TR T i), B (J10e1a 2o (rew =74 Zret), Brew
(BT AT #If@) S 0= (TofF 51 Bl #1a) | BISRITas ita s sy fewiza |

o1 Tofas witsl SRefREn Gr I0 | GTAIE e S &R 90, fofeg
sieiife Ffere ey wifefe | afsfaar 722 o azd Facs s 9 A& s s
A5 |

Teiiee Ao wietia ot TefE 2 | 5i-Ihiae e qardia 7| 51 Tefse Sits] WroE
scere wfefa 3i0e Mo 3w fifta c2lb | i 35 »i7 oF = ot tofam Wi afEmmt | st
TRl 4T3 AT 2o TR IR AR (el T | SI7{7 SIia ©e sfaad sitet | &g
T (72 7199 T GrE W A @ AAfaefE qU (W WBE | F{IteE AtE (TR cara
S (LA SR LR (4 BISH | ©F+17 SITW 519 Set (OLe Fwa Sieea we M G
23 S 511 (72 BT &9 (R dt 1w g wfefe 2ire | 9ife 25 Sfef guwd 51+«
T OO A HETH LRI B-TEGR | Al (17 26T A7 breaF At
o) SSTATE Bt (71 B SIPO1R | WITHR STS! FA2 GFATH 5] “AC"a Ao 2 s
Bi-#ATCwa 9 | SiteitfaTTe @0 Ui tefd @3l fid eifEmm | weiiar o M sipiem
ACST LT S FCAF |

— — — — — ———————— ————— — — — —— — — — — — —— — o it
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— e S S — — —— — —— —— — —— — — ——— ——— —————— —

1220-803 3 Tuarn over

et ‘R aftre e wei el s wmaem s afwme)
©H G (LT FEF F0L GHCSH GTAS G- wa! AT | SIa Gl a4 ot 210
ot I B | TR G R Spfow ST Fe (ol Sl 2 | A ST
JACE CATTENT T Sa 0T T35 20 | @478 (T Faw S wiies, (#oe
€ FILIF (ST 5IG ST FTIH0 el I oire | (F et At sifefdm s s
372 RS QAT (AT =% FEa 70w cora o2 f@eprs afetas vfe )
b L i
(i) aFE=e 519 Sl B1- 2 S 7o S qee
(ii) =1 51 TefRTe 1 F F@grs =« ¢
(iii) TG F GFZ 42T 5T IATAT T 2 9% Bl (OFRCe IR e gl A 2 fofw
51 CefFE wie F 0 2
(iv) =i o1 tofas dfimms adfar e |

(v) T O @ gty ‘aref B-ciffefas” sitaem sl @ sfefd wm
Bram 2 (12 Torers fof it a3y =wafzee= ¢

Question 3

(a) Correct the misspelt words :

Wy Al ow 37
(i) W, (i) =, (iii) =", (iv) &=, (v) 350

(b) Fill in the blanks in the following sentences, sclecting appropriate idioms from
those given below :
e qsigrae e Tr SAgE It (g faafaiee arrefre argw o d 9
(ztez wit, (STooDt, =fFa uR, Tree i, ez w21, wiha W, FTN0ET 219)
(i) W& == , et HOw e S (AT o 30 |
(i) TS SIS FEANCH #ATCeZ Wreiten =1, T ex efvesfen e
(iii) A== e (T TG WES oredt Bhe ZHi |
(iv) TR G2 BT, AR A TF, HTHd (NE1EE S ZRTE |
(v) Toies AMLHR T , <51t &3 9 =91 (ST 1, #Itd A |

14]

[4]
[4]

14]
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SECTION-B
PRESCRIBED TEXTBOOKS - 50 MARKS
Answer four questions from this section on at least three of the prescribed
textbooks.
oA9H € AMELFE
PROBONDHO O GODYA SONKOLON
Question 4
“G% (7 AT AACA IR TGO I @G MG ZH, ST ATF <51
4q FEHE FA 79 7

(1) FF @A ? (PR A TZ (T (F6A IR ? [1i2]

(i) IS (F ¢ IO CTHLY LA ? (3]

(iii) P &PTC TR B3]

(iv) or=ba Sies wiEna 94 [5]
Question 5

“wifsr afewt srafe, Afosw @ s [Fre five @@, o =i & 29 — o
1 9HE (2T, §IF 5OTEE @ 17

— T NI, (P, AITET WA ¢ IS (I SHA IS A2 Y TG ¢ Tuw we
J1 7 SfewDa oredd F ¢ [12%]

Question 6
i 3 fefins, 72 Rz 7o oregw

— ISR FEAT 2 AT (PN AT T GIRETE 2 TS T T @ 7 O o o
A TA ¢ [1244]

[ ——————— — ————— — ———— T — — ————— — — — —— —— —

1220-803 4



FAST ATEN

KOBITA SONKOLON

Question 7

“ 9% (O T (HTT 0, #AfRew
IS AT [T S

@3 A Wie arEE I ore
AT FEIE FCH 4T |

(i) F1F (@41, (T FRUTLT IS 2 TP T ANCA ST 57 ¢ [1%4]

(ii) ¥& & ? &N @ (TS T I Fa0EA ¢ [3]

(iii) ‘=If¥6s ST IACHS W7 2T’ AL A B @FRICAT AT [3]

(iv) ‘== F2W =0 UF— SleAd WD I [5]
Question 8

‘o3 FIE AWM o AMLIT A, ST FY
9T ¥ (AR BT oA AT SR [

FE L P IR IR 2 AU S, A, To TR 5, O 1% @0
F QR TCACE ¢ ¥4 ARCET AR (2N € T2 Ta T ? PR P AR B oA
e e ooty ans ¢ [12¥4]

Question 9

— T (oY (I FIROUTER TR 2 G2 FRT o7 o 93 FRyTE w9 e 79
‘W & ¢ TRETA T AT 90 F @RI AL ¢ (S IS =1 Frafecew o
@ FIoNa N (AEEEm ¢ 98T I ©IT ©F FoaE 366 frarea ¢ AT Treg

O G FOOE A T FR/CA LA ? [12%]
=i
KONI
Question 10
“ZIie O (BIY COCH THe ‘a0’ HeHl(”
(i) =F IS FF ARTA AT ? [1%]
(i) 47 OIF GITY ‘90" FLIB (STH 9rd 2 [3]
(ili) ©17 I ‘90’ ARG Sesd F ¢ [3]
(iv) 9% AEHTBT “OIF AL Qe 4202 i i » [5]

—— ——— —— —— — ———— — ——— — — — — — — — — S — ——— — — — —
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Question 11
“FfaEe @it @ure fra fiva F 9ofge ¢ 2 a1 e HO F T

FrAfRLE= 7 [12%]
Question 12
“coifera Areter ARSI ghet wiamna 341" [12v%]
T30
MUKUT
Question 13

“Q3 (TN AN GUACE, (I8 TANIAT o<y vl |

(i) IF & ¢ 7 o4f ©fF Ira0e ¢ [1%]

(ii) CFH SANMAT I QAR Io1 00 ? [3]

(iii) (I &9CA I&1 W2 TfF Fra0E ¢ (3]

(iv) &R I TR ST F A ¢ G T T I ARG A CATCE ? [5]
Question 14

“ COTRR T @ BATT AT AN

— IS (T ? FICE AT 7 (P SACK A I ZAE 2 TATHG! F 2 ©iF TN

A AE A @ 2 IS F) (@RS GTATH ? [12%4])
Question 15
IO’ AGLF WO IEFAR LHFANA B WD 9 | [12¥4]

— — —— — — — — — — — — — — — —— — — — — — — — — —— — —— ———— i ——
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HINDI

(Maximum Marks : 100)
(Time allowed : Three hours)
(Candidates are allowed additional 15 minutes for only reading the paper.
They must NOT start writing during this time.)

Answer questions 1, 2 and 3 in Section A and four other questions from Section B
on at least three of the prescribed textbooks.

The intended marks for questions or parts of questions are given in brackets [ ].

SECTION A
LANGUAGE — 50 Marks

Question 1

Write a composition in approximately 400 words in Hindi on any ONE of the
topics given below :(— [20]

el uw fawm o Farg fofae st amor 400 oY & &7 7 8 —

() Free am N 7 wemar ¥ s fw T T gA ww S 2 feedr 4 &
TF TedT FT aUF PN SF 193 A9 gRentay @ gae ey 47 R seaHe
iFq 1 #eg A oF | g Sl Tose HINY fF T@ e s SiE 9K T g
qgT 7

(i) 51 & Sflaq B S B {AT gABL Fe B wodA1 w1 217w g J
T " @ gEe R U e ®Y odl 97 W@ 8 7 el X & aguehd
Ul gEh falr IURT R geE ST gU IR faEw e Sk

(iii) 3 el e @1 98 aftam ot ¥ e s e wETE s R man
g1 %A @l w1 Al o sl w1 A g aren 21 T a9 auf & A s
A @ee-Hie srya

(iv) "n@m%ﬁﬁamﬁﬁrﬂmqﬁaﬁ@wm%"ﬂﬁwﬁwmﬁw
¥ Iyq e suga #m

This Paper consists of 7 printed pages and 1 blank page.
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(v) fGeg & 9y ox g & U A3 YgErH INX @ 8, TH I B U
HT TNTER WA —GTE] Hieg |

(vi) Frfafaa & & et v W Aifts Fert e —
(a) ‘NH Tl Rar T am =\ gy aw)”
(b) T Hfers FwerAr foftg R sffas a8 .
.................. I YA WX FHIA Tgad UX BAA AT H GG oA |

Question 2

Read the passage given below carefully and answer in Hindi the questions that

follow, using your own words :—
Frefofé savo 91 gewe, s/a ¥ Ru mu yedt & Iox 3o wet F foRdig —

U g9 A WG 8, T e § QA R w31 A9 @ 9gg 0w 3, Q)
F I AN AT oA, A IwH & AeFq F@ AT M IR qRAR F IR
G U |

HHEHI, FS Y 999 A B T & R, @ & g 9 geg @ | gE
QAT B TH G ATEF F G A T AT A I @ D I IO, TR
Sta & a1 A P a9 gAe] I ¥ e w3 e 9 &,
‘B e | e @ W X R wgg ulew Rl & ff ) s g it A Ra
o g | 0 Rt #3391 ae od ¥ w9 o o go off $Awn 98 ww U
7 A o e, 7 8 A ol 398 F98 weT w7 & weft e ufer
yea1 @l e mr | S ot 3w un, A AT gES ASC ge 9@ a1 @R
A ey ¥ wo off 78 smar) @, B wady S R o @ 8

IS TG GAPL WA HS FHY AT W@ 3R YA 39 e ¥ gen, d@ aw
qH 1 9Ed B, @ 9 A F @R o o qrs 1

WA 61 Y97 gAHT 98 fFar g @, “ama | e go @ s g,
f w2 woft fell 1 @ ot 31 A1 99 | A @ Fad = g F Jew & dw Py
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oAl S0 hEHT g8 FhETT U BT MT| AT A IFET 9@ gAr AR,
‘quteg ! G @ ST wha &1, K g YEr & e {m Swr gE gee whn 21

JES WM F §% e A gER R ¥ g, g saeh, g e § @
FH A P I fREE A WEE F § WA B WISy gY FEl, R smEe | o HR
I four, ¥ @ F@r /Y| WO A TF eer AR R, @ v 9HT @
e oX Ag7d @ W @ T q97 IRaR A @ =1 Aaq far| @ F g
I AR M AT ARE A AT AT Rar) & s A wfan 9 @ e A
) 59 T B Wl o R M F, R g7 o Rl swdw <@ ok s
A2 A AN A e @ R R A e & Ao At § R weg
FH-FH AT T A7 D FRO X I @A AL X wr o1 R F A ER A 4@
g offe W0 & Y FEHC 98 g9 & )’

WA 3 SR 9@ AR IEQ ST, ‘D o 7 A & qH, 59 oo ¥ A
TR F1 O ? e A grd A5 g wErT d REd @, R 9y | s e
m%%ﬁ%ﬁ%ﬁiw—wmmu”wﬁw, “qureg | gW ST Rt
B wf AR - qE S

¥q A FT YT IW WG A T G ITH g | A9 T 9" 98 gU| Teel
e et e & F81 a1 B I A X A Bawt g7 B R I e el
FN FE &A1 AT U9, IF AW IW NG B GEQ 97 PErd 901 @ I B Ay
TS AT AL S o1 MR W P o @ IgA Al ¥ R s & wmar an)

wwﬁﬁmﬁwﬁﬁrmﬁ?aﬁwﬂﬁm,%mmam
5 9us g & +f B qE-wmr 7 W, @8 99 i F gad 3R e =

T A o o 8 I ¥ Wy @A wga wwd §) seww @ o @ oad
A A A g A DY dew A AR wd R H ¥ s da o
=D q TE M U | B A D A TBY BN E—HPIIHD 3 AFITF, 3T T A
a9 ot ek 8 & B AiSt A THee w9 Y@ & O geRens w9 ¥ e
e ST 8, A ST /e @ ssr a9 8 | et § w0t e w5 s

S —— e — — —— — — — — —— — — — — — — — — —  — — — — — t—  — — —
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qrar A S R B SEH ST A1 S EAen qEd F gy qar W @ !
R RF el a9 seaft, sfea & 9fe earw g off s s )

qT

(i) D FrEr wef @ A ? I A Fw gHTAC ud Fur fqvwand off ?

(i) TES FEm #Y oA e & w7 g o ? @8 @R 9H # F91 99497 9w
a1 ? ‘

(iii) TR B F s @ 39d R o w@m e ?

(iv) AT Frarl &1 gAsten few w9 # gan 7 s@ IAFT Aaq dar of 7

(v) 39 Tier ¥ 89 Fur frenm fByadt 807

Question 3

(a) Correct the following sentences and rewrite :—
Frfafae alt & @ s oo . —
(i) T I F Psar 2
(ii) 98 B IsQI UX &9 ASH ol
(iii) 397 Mg A J-=R afaf 7
(iv) BUR H Hegeus a1 g el |
(v) &9 89k ?w & fog W ¥ I

(b) Use the following idioms in sentences of your own to illustrate their

meaning :—

Preafofed geed = a=gl # ygw S —
(i) B T BT

(i) Ioo| 9 U F @ wAT

(iii) 3mEHTA BT U e

(iv) &1 AT |

(v) SE-JGX FI BlHT |

1220-805 4
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SECTION B
PRESCRIBED TEXTBOOKS — 50 Marks

Answer four questions from this Section on at least three of the
prescribed textbooks.

T GFAA (Gadya Sanklan)

Question 4

3T A1, T AR I F I Y A A A | T e @ @z Frah
STl e S R e

(i) =57 Fua @19, e R g ged & @8 w1 2 7 [y
(ii) #aT I FYA AR gH-gHe A FT o7 7 [3]
(i) 2 P 3 T ¥ ¥ F Aaq ke qwe fiqar A ? (3]
(iv) TG FErt F AW ¥ FEASR qow w1 oAE R A digpse wY @
g7 : [5]
Question 5 -

==al A g gea ) e ¥ oes R & A worear # ofifad @Y awey
7% BAdg & FRdl W AT D ER T TS B @9 FH A9 B Y IAR

= rz-f i | [12%]
Question 6

A w9 guT werE B ) FEr B SmER u Ay @Y JusiE wd @mr & v

=70 g SasC B MY w7 Aeee @aRm oA g § wE A TEl A [12%]

Fred WA (Kavya Manjari)
Question’f
g1 gard Of f ISST @R &1 @8 ST,
T AT AT FH A, W HEAT A TG,
7T fF 39 wfeadl & @y gear S et

s . S —— —— S — — S — — — — — — — — — — — —— ————— ——— — — —
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freg ¥ Prafor & sfaffy, g&F e s

o a¥ g A Sy § ol @ ws P

Wﬁa‘é’f-aﬁf%gqﬁ,ﬁ?{wwww%?

2 G w9 W Er A FE OAAT 87
(i)q@awm%mﬁwaﬁmwmmmugﬁmwﬁm%? [1%]
(ii)thaﬁmm’%ﬁmw?ﬁmﬁmemﬁaﬁm? [3]
(iii)W%W’WWW%@T@?WWWW'W%?WI [3]
(iv)mm%ﬁwﬁwﬁa@%?wﬁﬁml (5]

Question 8

T G A T HAA B HEW ¥ w R et 3 guey S g Fa

) FHeEE B — g ek [12%]
Question 9

. ol e 3@ 2w e wiow R ) wegE AT @) i A aeaw fo

g 7 3 [12%]

‘ATRT ATHTIT  (Saara Akash)

Question 10
'@@wm,mwmé%wﬁwuqﬁw,mwﬁm
Fr &1 X0 g ¥ A9 on @ a1 B Y It Fowar A @ e | A A 9w
L _

() SUUE T ITUEER B AW R 7 R g &1 I § 7 [1%]
(i) ST FU F AT A ¥ 7 A B ufy emwrd @ i) w7 3]
(in)w#mamﬁwmmmwwammwm?m

9% 9T W U Uger a1 uxaral @ @ gRkr g ? 3]
(iv) =iar @1 =i R S | (5]

Question 11

QR T ITE B YR UL GAC D A F AR B (12%]

——....-——————.'———--———-—————_.——_..-——_.——_..——_..——_.-—
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Question 12

g e TN Ued g e T SR WAl B — SUW S IMER T
T FYA FI Gl B | : [124%]

‘ST9TE T UF A (Aashad Ka Ek Din)

Question 13

e T 8 ? U 3ol shiforaTe | X FIoIATE 7 U €S AW | 89 Fel Th-gal
% @gd Free 939 21

(i) T M Arar &1 ey R [1%]
(i) YR @arQ & GET TS AT | 3]
(iliy T PR B STETC TR aw H gReR T ARG 3]

(iv) S9EFT §ag F YR R ARy K AT ok Ffew F M A @€Sg 0 [5)

Question 14 -

“ftaedr qrgATe F AL wond § A 81 ‘o & wF R’ ATCF B oamgR )

sftger #Y wRBe oy 1 avfy Fifg ) [12%4]
Question 15

faEer wfee 1 397 919 "o forg A et @ 7 Ao 1 @ o) whafar

A ? [12%]

17990 ONnE -



MATHEMATICS
(Maximum Marks: 100)
(Time allowed: Three hours)
(Candidates are allowed additional 15 minutes for only reading the paper.
They must NOT start writing during this time.)

This Question Paper consists of three sections A, B and C.

Candidates are required to attempt all questions from Section A and all questions
EITHER from Section B OR Section C
Section A: Internal choice has been provided in three questions of four marks each and two
questions of six marks each.
Section B: Internal choice has been provided in two questions of four marks each.
Section C: Internal choice has been provided in two questions of four marks each.
All working, including rough work, should be done on the same sheet as, and adjacent to

the rest of the answer.

The intended marks for questions or parts of questions are given in brackets [ ].
Mathematical tables and graph papers are provided.

- SECTION A (80 Marks)

Question 1 [10x2]
(i)  Determine whether the binary operation * on R defined by axb = |a—b|

is commutative. Also, find the value of (—3)*2.
(ii)) Prove that:

tan?(sec™! 2) + cot? (cosec™ 3) = 11.

(iii) Without expanding at any stage, find the value of the determinant:

20 a b+c

A=120 b a+tc

20 ¢ a+b

: 2 34 1 =3 -4 6
(iv) If = , find x.

5 TH-2 4 -9 x

3

(v)  Find g.x%’- if x° +y° =3axy

This Paper consists of 6 printed pages.
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(vi) The edge of a variable cube is increasing at the rate of 10 cm/sec. How fast is
the volume of the cube increasing when the edge is 5 cm long?

5
(vii) Evaluate: [ |x—5|dx
4

(viii) Form a differential equation of the family of the curves j* = 4ax.

(ix) A bag contains 5 white, 7 red and 4 black balls. If four balls are drawn one by
one with replacement, what is the probability that none is white?

(x) Let A and B be two events such that

P(A)=~%,P(B):p and P(AuB)z%

find ‘p’ if A and B are independent events.

Question 2

If the function /: R—R be defined as f(x) = %,(xi%) and

g: R—R be defined as g(x) = ;it; g (x;t%)
show that (go f)(x) = (fog)(x).

Question 3

1x 4 Cos“I ¥ é,then prove that

(a) If cos 5 3

9x% —12xy cos @ + 4y% =36sin2 @
OR
1

(b)  Evaluate: cos (2 c:cos_1 X+ sin_1 x) atx = g

Question 4
Using properties of determinants, show that

x p g b g
P x q|=(x-p)x"+px—2q97)
qg q x

1220-860
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Question 5

[4]

Verify Rolle’s theorem for the function, f(x) = —1+ cosxin the interval [0, 2 77 ]

Question 6

msin~

Ify=e *, prove that

Question 7

[4]

(4]

(a) The equation of tangent at (2, 3) on the curve y2 = px3 +qis y=4x-1.

Find the values of ‘p’ and ‘q’.

OR
(b) Using L Hospital’s rule, evaluate:
e al log(1+ x)
lim 5
x—0 X
Question 8
dx
(a) Evaluate: j 5
QSx —4x
OR

(b)  Evaluate: jsin3 wios Edr

Question 9

Solve the differential equation

(I+x2)9=4x2 —2xy
dx

Question 10

[4]

[

[4]

Three persons A, B and C shoot to hit a target. Their probabilities of hitting the target are

5 4 3

6
(i)  Exactly two persons hit the target.
(i) At least one person hits the target.

—, —and Z respectively. Find the probability that:

1220-860
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Question 11 [6]
Solve the following system of linear equations using matrices:

x=2y=10, 2x—y—2z=8, —2y+z=7

Question 12 | [6]
(a) Show that the radius of a closed right circular cylinder of given surface area and
maximum volume is equal to half of its height.
OR

(b) Prove that the area of right-angled triangle of given hypotenuse is maximum when
the triangle is isosceles.

Question 13 [6]
(a) Evaluate:
-1 1-
| tan 1 P
] 4+ x
OR
2x+7
(b)  Evaluate: | —Tx——— dx
xT—x-2
Question 14 [6]

The probability that a bulb produced in a factory will fuse after 150 days of use is 0-05.
Find the probability that out of 5 such bulbs;

(1)  None will fuse after 150 days of use.

(11)  Not more than one will fuse after 150 days of use.
(111) More than one will fuse after 150 days of use.
(iv) At least one will fuse after 150 days of use.

SECTION B (20 Marks)

Question 15 [3%2]
(a) Write a vector of magnitude of 18 units in the direction of the vector §— 2] — 2k .
(b) Find the angle between the two lines:
¥+1 v=2' z4+3
= = - and

2 5 4 5 2 -5
(c) Find the equation of the plane passing through the point (2,-3,1) and
perpendicular to the line joining the points (4, 5, 0) and ( 1,-2, 4).

-1 y42 . z-1

4
1220-860



Question 16 [4]
(a) Provethat&.[(3+é")x(&+33+4é’)]=[fi B
OR

(b) Using vectors, find the area of the triangle whose vertices are:
AG-1,2), B{l-1-3) and €(4-3, 1)

Question 17 [4]
(a) Find the image of the point (3,~2, 1) in the plane 3x—y +4z=2
OR

(b) Determine the equation of the line passing through the point (-1, 3,-2) and
perpendicular to the lines:

Vi, x+2=y-—1=z+1

1 2508 = gt L <

Question 18 [6]

Draw a rough sketch of the curves y* = x and y* =4 — 3x and find the area enclosed
between them.

SECTION C (20 Marks)

Question 19 [3x2]
(a) The selling price of a commodity is fixed at X 60 and its cost function is

C(x)=35x+250

(i) Determine the profit function.

(i) Find the break even points.
(b) The revenue function is given by R(x) = 100x — x* — x* . Find

(i) The demand function.

(i) Marginal revenue function.

(c) For the lines of regression 4x —2y =4 and 2x-3y+6=0,
find the mean of ‘x’ and the mean of ‘y’.
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Question 20 [4]

(a) The correlation coefficient between x and y is 0.6. If the variance of x is 225 , the
variance of y is 400 , mean of x is 10 and mean of y is 20, find

(i) the equations of two regression lines.
(ii) the expected value of y when x =2

OR

(b) Find the regression coefficients byx, bxy and correlation coefficient ‘r’ for the
following data : (2,8), (6,8), (4,5), (7, 6), (5, 2)

Question 21 [4]

(a) The marginal cost of the production of the commodity is 30 + 2x , it is known that
fixed costs are X 200, find

(i)  The total cost.

(ii)  The cost of increasing output from 100 to 200 units.

OR

(b) The total cost function of a firm is given by C(x) = % x® —5x%+ 30x—15

where the selling price per unit is given as ¥ 6 . Find for what value of x will the
profit be maximum.

Question 22 [6]

A company uses three machines to manufacture two types of shirts , half sleeves and
full sleeves. The number of hours required per week on machine M, , Mz and M3 for
one shirt of each type is given in the following table :

M, M: M3
Half sleeves 1 2 8/5
Full sleeves 2 1 8/5

None of the machines can be in operation for more than 40 hours per week . The profit
on each half sleeve shirt is ¥ 1 and the profit on each full sleeve. shirt is X1-50.
How many of each type of shirts should be made per week to maximixe the company’s
profit?

1220-860



PHYSICS
PAPER -1
(THEORY)

(Maximum Marks: 70)
(Time allowed: Three hours)

(Candidates are allowed additional 15 minutes for only reading the paper.
They must NOT start writing during this time.)

All questions are compulsory.
This question paper is divided into 4 Sections, A, B, C and D as follows:
Section A
Question number 1 is of twelve marks. All parts of this question are compulsory.
Section B
Question numbers 2 to 12 carry 2 marks each with two questions having internal choice.
Section C
Question numbers 13 to 19 carry 3 marks each with two questions having internal choice.
Section D
Question numbers 20 to 22 are long-answer type questions and carry 5 marks each.
Each question has an internal choice.
The intended marks for questions are given in brackets [ ].
All working, including rough work, should be done on the same sheet as and
adjacent to the rest of the answer.
Answers to sub parts of the same question must be given in one place only. A list of
useful physical constants is given at the end of this paper.
A simple scientific calculator without a programmable memory may be used for

calculations.
Section A
_ Answer all questions.
Question 1
(A) Choose the correct alternative (a), (b), (c) or (d) for each of the questions given [5x1]
below: '

(1) A point charge ‘g’ is kept at each of the vertices of an equilateral triangle
having each side ‘a’. Total electrostatic potential energy of the system
18:

[ X I = g

Gaf 3%_ & |1 |3
\47e, ) a \47¢, ) a
s N ( \

(©) 1 |39 (d) ! _3_‘32__
\47e, | a \47e, | a

This Paper consists of 8 printed pages.
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(i)

(iii)

(iv)

)

Curie temﬁerature is the temperature above which:

(a) a ferromagnetic substance beha_ves like a paramagnetic substance.
(b) aparamagnetic substance behaves like a diamagnetic substance.
(c) a ferromagnetic substance behaves like a diamagnetic substance.
(d) a paramagnetic substance behaves like a ferromagnetic substance.
In an astronomical telescope of refracting type:

(a) Objective should have small focal length.

(b)  Objective should have large focal length.

(c) Eyepiece should have large focal length.

(d Both objective and eyepiece should have large focal length.

In photoelectric effect experiment, the slope of the graph of the
stopping potential versus frequency gives the value of:

h

(@ — (b) h
e
L7

@ Be
h ¢

In a nuclear reactor, cadmium rods are used as:

©

(a) Control rods
(b) Fuelrods
(c) Coolant

(d) Moderator

(B) Answer the following questions briefly and to the point: ) [7x1

)
(ii)

(iif)
(iv)
v)

(vi)
(vii)

State Gauss’ theorem.

A metallic wire having a resistance of 20Q2 is bent in order to form a
complete circle. Calculate the resistance between any two diametrically
opposite points on the circle. :

How can a moving coil galvanometer be converted into a voltmeter?
Write Biot-Savart’s law in vector form.

What is the phase difference between any two points lying on the
same wavefront?

Name the physical principle on the basis of which optical fibres work.

What is Pair production?

1220-861A



Section B
Answer all questions.
Question 2 : 2]

(a) A uniform copper wire having a cross sectional area of Imm? carries a current
of 5A. Calculate the drift speed of free electrons in it.
(Free electron number density of copper = 2x10%*/m’.)

OR

(b)  An electric bulb is rated as 250V, 750W. Calculate the:

(1) Electric current flowing through it, when it is operated on a 250V
supply.
(i)  Resistance of its filament.

Question 3 [2]

Write an expression for force per unit length between two long current carrying
wires, kept parallel to each other, in vacuum and hence define an ampere, the SI unit

of current.

Question 4 [2]
(1)  Define angle of dip.
(i1) State the relation between magnetic susceptibility ( 7 ) and

relative permeability ( £/, ) of a magnetic substance.

Question 5 2]

(a)  Figure 1 below shows a metallic rod MN of length / = 80cm, kept in a uniform
magnetic field of flux density B = 0-5T, on two parallel metallic rails P and
Q. Calculate the emf that will be induced between its two ends, when it is

moved towards right with a constant velocity v of 36 km/hr.

M P
/|
X X X .3 X
/= 80cm B >V
X X X % X
i 2
N Q
Figure 1
OR
3
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(b) When current flowing through one coil changes from 0 Amp to 15 Amp in
0-2s,an emfof 750V is induced in an adjacent coil. Calculate the coefficient

of mutual inductance of the two coils.

Question 6 -. [2]
(i)  State any one use of infrared radiations.

(1)  State any one source of ultraviolet radiations.

Question 7 [2]
Where will you keep an object in front of a:
(1) Convex lens in order to get a virtual and magnified image?

(i)  Concave mirror to get a real and diminished image?

Question 8 2]

Draw a labelled graph of angle of deviation (&) versus angle of incidence (i) for a
prism. ;

Question 9 2]

(1)  State de Broglie hypothesis.
(i)  What conclusion can be drawn from Davisson and Germer’s experiment?

Question 10 [2]

Calculate binding energy of oxygen nucleus ( Ig O) from the data given below:

Mass of a proton = 1:007825u
Mass of a neutron = 1-008665u
Mass of(‘gO) —  15:994915u
Question 11 (2]

For a radioactive substance, write the relation between:
(1) Halflife (T) and disintegration constant (A).
(11) Mean life (7 ) and disintegration constant (7).

Question 12 [2]
With reference to communication systems, what is meant by:
(i) modulation?

(i) demodulation?
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Section C
Answer all questions.

Question 13 [31
Show that intensity of electric field E at a point in broadside on position is given by:

e 1 D
E_{4ﬁeo](7’2+22)3/2 |

where the terms have their usual meaning.

Question 14 (3]

A parallel plate capacitor is charged by a battery, which is then disconnected.
A dielectric slab having dielectric constant (relative permittivity) K, is now
introduced between its two plates in order to occupy the space completely.

State, in terms of K, its effect on the following:

(i)  The capacitance of the capacitor.
(ii) The potential difference between its plates.

(iif) The energy stored in the capacitor.

Question 15 i [3]

(a) E; and E; are two batteries having emfs of 3V and 4V and internal resistances
of 2Q and 1Q respectively. They are connected as shown in Figure 2 below.
Using Kirchhoff’s Laws of electrical circuits, calculate the currents Ii and .

R b B | PR

IV, 28—, Ex— 4V, 1Q
Rz% 8Q

R1=4Q g Ro=7Q

F E D
Figure 2
OR

5 )
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(b) A potentiometer circuit is shown in Figure 3 below. AB is a uniform metallic
wire having length of 2m and resistance of 8Q. The batteries E; and E; have
emfs of 4V and 1-5V and their internal resistances are 1Q and 2Q respectively.

E; R
f 2 N)ﬂ/\
l I
4V, 1Q 7Q
2m, 8Q2
A C B

]\ J
Ea
2o s
1:5V, 2Q
Figure 3

(1) When the jockey J does not touch the wire AB, calculate:
(a) the current flowing through the potentiometer wire AB.
(b) the potential gradient across the wire AB.

(i)  Now the jockey J is made to touch the wire AB at a point C such that
the galvanometer (G) shows no deflection. Calculate the length AC.

Question 16

For two thin lenses kept in contact with each other, show that:

berds 7
F h £

where the terms have their usual meaning.

Question 17

(@) A compound microscope consists of two convex lenses having focal length
of 1-5cm and Scm. When an object is kept at a distance of 1-6cm from the
objective, the final image is virtual and lies at a distance of 25cm from the
eyepiece. Calculate magnifying power of the compound microscope in this
set-up.

OR

(b) In Young’s double slit experiment, the screen is kept at a distance of 1-2m
from the plane of the slits. The two slits are separated by Smm and illuminated
with monochromatic light having wavelength 600nm. Calculate:

(i) Fringe width i.e. fringe separation of the interference pattern.

- (il) Distance of 10" bright fringe from the centre of the pattern.

[3]

3]

6
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Question 18

Draw the energy level diagram of hydrogen atom and show the transitions
responsible for:

(1) absorption lines of Lyman series.

(1)  emission lines of Balmer series.

Question 19

(1) State any one difference between energy band diagram of conductors and that
of insulators. !

(11) Give a relation between @ and f for a transistor.
(Derivation is not required.)

(1)  What is the advantage of an LED bulb over the filament electric bulb?

Section D

Answer all questions.
Question 20

(@ (1) A400Q resistor, a 3H inductor and a SuF capacitor are connected in
series to a 220V, 50Hz ac source. Calculate the:

(1) Impedance of the circuit.
(2) Current flowing through the circuit.
(i) Draw a labelled graph showing the variation of impedance (Z) of a
series LCR circuit versus frequency (/) of the ac supply.
OR

(b) (i) When an alternating emf e =310 sin (1007t)V is applied to a series LCR
circuit, current flowing through it is i = 5 sin(1007t + 7t /3)A.

(1)  What is the phase difference between the current and the emf?
(2) Calculate the average power consumed by the circuit.

(i) Obtain an expression for the resonant frequency (/) of a series LCR
circuit.

Question 21

(@ @) Derive an expression for refraction at a single (convex) spherical
surface, i.e. a relation between #, v, R, n1 (rarer medium) and
n; (denser medium), where the terms have their usual meaning.

(11)  Name the phenomenon due to which the sun appears reddish at sunset.
OR

3]

13

[5]

[5]

7
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(b) () Draw a labelled graph of intensity of diffracted light (I) versus
angle (0) in the Fraunhofer diffraction experiment for a single slit
diffraction.

(ii)  State the law of Malus.
(i) How will you distinguish experimentally between ordinary light and

plane polarized light?
Question 22
@ @ In a semiconductor diode, what is meant by potential barrier?
(i1) Draw a labelled circuit diagram of a Zener diode as a voltage
regulator.

(1i1) Show with the help of a diagram, how you will obtain an AND gate
using only NAND gates. (Truth table is not required.)

_ OR
(b) (i) Draw alabelled circuit diagram of a transistor acting as a
common emitter amplifier. What is meant by phase reversal?

(ii) Draw the symbol of a NAND gate and write its truth table.

Useful Constant and Relation:

lu = | 931MeV

[5]
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CHEMISTRY
PAPER -1

(THEORY)
(Maximum marks: 70)
(Time allowed: Three hours)

(Candidates are allowed additional 15 minutes for enly reading the paper.
They must NOT start writing during this time.)

All questions are compulsory
Question 1 is of 20 marks having four sub parts, all of which are compulsory. -
Question numbers 2 to 8 carry 2 marks each, with two questions having internal choice.
Question numbers 9 to 15 carry 3 marks each, with twe questions having an internal choice.

Question numbers 16 to 18 carry 5 marks each, with an internal choice.
All working, including rough work, should be done on the same sheet as, and adjacent to
the rest of the answer.

The intended marks for questions or parts of questions are given in brackets [ ].
Balanced equations must be given wherever possible and diagrams where they are helpful.
When solving numerical problems, all essential working must be shown.

In working out problems, use the following data:

Gas constant R = 1-987 cal deg”’ mol”’' = 8-314 JK! mol”" = 00821 dm’ atm K mol"!
11l atm =1dm’ atm = 101-3 J. 1 Faraday = 96500 coulombs.

Avogadro’s number = 6-023 x 10%.

Question 1

(a)  Fill in the blanks by choosing the appropriate word/words from those given in the [4x1]
brackets:

(iodoform, volume, mass, haloform, gram equivalent, chloroform, carbylamine,
sp’d?, high, coke, d*sp?, low, gram mole, carbon monoxide)

(1)  Equivalent conductivity is the conducting power of all the ions furnished
by one of an electrolyte present in a definite of the
solution.

(i)  Bleaching powder, on treatment with ethanol or acetone gives
This is an example of reaction.

(1i1) Outer orbital complexes involve hybridization and are
spin complexes.

(iv) Zinc oxide is reduced by at 1673K to form zinc and

This Paper consists of 7 printed pages and 1 blank page.
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(b)  Select the correct alternative from the choices given:

(i) The packing efficiency of simple cubic structure, body centered cubic
structure and face centered cubic structure respectively is:

(1) 52-4%, 74%, 68%
2) 4%, 68%, 52:4%
(3) 52-4%, 68%, 14%
B) 68%, 74%, 52:4%

(i) When acetone is treated with Grignard’s reagent, followed by hydrolysis,
the product formed is:

(1) Secondary alcohol
(2) Tertiary alcohol
(3) Primary alcohol
(4) Aldehyde

(iii) . Which of the following elettrolytes is least effective in causing flocculation
of positively charged ferric hydroxide sol?

(1) Ks[Fe(CN)e]

" (2) KaCrOy
(3) Ka[Fe(CN)s]
(4) KBr

(iv) On heating an aliphatic primary amine with chloroform and alcoholic
potassium hydroxide, the organic compound formed is an:

(1) Alkyl isocyanide

(2) Alkanol

(3) Alkanal

(4) Alkyl cyanide
(c) Match the following:

(i)  Silicon and phosphorous (a) Acetaldehyde
(i) lodoform test (b) Xenon hexafluoride
(i) Arrhenius equation (c) n-type of semiconductors

(iv) Distorted octahedral structure (d) Frequency factor

[4x1]

[4x1]
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(d) Answer the following questions: [4%2]

(1)  What is the common name of the polymer obtained by the polymerization of
caprolactam? Is it addition polymer or condensation polymer?

(i) Why Zn*" ions are colourless while Ni** ions are green and Cu?* ions are blue in
colour?

(11i) The molar conductivity of NaCl, CH;COONa and HCI at infinite dilution is
126-45, 91-0 and 426°16 ohm™ ¢cm® mol"! respectively. Calculate the molar
conductivity (4;;) for CH3COOH at infinite dilution.

(iv) Identify the compounds A, B, C and D.
C.H.COOH socl, NE ) BrKOH 4 NaNO,+HCI D
625 L 7 > >

0-5°C

Question 2 2]

(@)  An element has atomic weight 93 g mol™' and density 11-5 g cm™ If the edge
length of its unit cell is 300 pm, identify the type of unit cell.
(Na =6-023%10%* mol™)

OR

(b)  Calculate the radius of copper atom. The atomic weight of copper is 63-55 g mol™.
It crystallises in face centered cubic lattice and has density of 8:93 g cm™ at 298K.
(Na = 6:023x10% mol™)

Question 3 [2]
Complete and balance the following chemical equations:
6 pysNaOBE 0 o +
Inert atm.
(i) Cu+HNO; —> + +
dil.
Question 4 [2]

(1)  Write the chemical equation for the reaction of glucose with bromine water.

(i)  Write the zwitter ion structure of glycine.

Question 5 [2]
(1) How do antiseptics differ from disinfectants?

(i)  Name a substance that can be used as an antiseptic as well as a disinfectant.
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Question 6 2]

An alloy of gold (Au) and cadmium (Cd) crystallises with a cubic structure in which gold
atoms occupy the corners and cadmium atoms fit into the face centres. What is the formula

of this alloy?

Question 7 2]
(a) State reasons for the following:
(1) Ethylamine is soluble in water whereas aniline is insoluble in water.

(if) Aliphatic amines are stronger bases than aromatic amines.

OR
(b) Complete and balance the following equations:
() CeHsNH, + CH3COCl — +
(i) C;HsNH; + HNO, —> + +
Question 8 : [2]

Draw the structure of xenon tetrafluoride molecule. State the hybridisation of the central
atom and the geometry of the molecule.

Question 9 _ B3]
(a)  Calculate the emf and AG for the given cell at 25°C:
Cr,,/Cr** (0-1M)//Fe** (0-01M)/Fe,,

Given: E°

cr’tfcr =_074V’ :a“fFa =44 ¥
(IF=96500 C,R =8-314 JK' mol™)
OR

(b) Caiculate the degree of dissociation () of acetic acid, if its molar conductivity
(Am) is 39:05 S cm? mol!

(Given A7, =349-6 S cm’ mol " and A°

(H*

= i 2 maiil
(c.t:,coo—)_40 95 S cm” mol™)
Question 10 [3]

Name an important ore of silver. How is silver extracted from its sulphide ore? Give
balanced chemical equations involved in the extraction of pure silver.

1220-862A



Question 11 : i3]
How will you convert the following:

(1) Chlorobenzene to biphenyl

(i1) Propene to 1- bromopropane

(iti)  Chlorobenzene to aniline

Question 12 3]
Explain what is observed when: '

(1) A beam of light is passed through a colloidal solution.

(i)  An electric current is passed through a colloidal solution.

(iii)  An electrolyte (AICl3) is added to a colloidal solution of arsenious sulphide
(As28S3).

Question 13 i3
(a) How will you convert the following: (Give balanced equation)
(1)  Benzoyl chloride to benzaldehyde.
(i)  Methyl chloride to acetic acid.
(iii)  Acetic acid to methane.
‘ OR

(b) A ketone A (C4HsO) which undergoes Iodoform reaction gives compound B on
reduction. B on heating with conc.H2SO4 at 443 K gives a compound C which
forms ozonide D. D on hydrolysis with Zn dust gives only E. Identify the
compounds A to E. Write the lodoform reaction with compound A.

Question 14 : 131

A first order reaction is 50% completed in 30 minutes at 300 K and in 10 minutes at 320K.
Calculate the activation energy of the reaction. (R = 8:314 JK'' mol™).

Question 15 3]
Explain the following:

(1) Transition metals and their compounds generally exhibit a paramagnetic
behaviour.

(1)  There is an increase in density of elements from titanium (Z=22) to copper
(Z =29) in the 3d series of transition elements.

(i)  K>Cr207 acts as a powerful oxidising agent in acidic medium.
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Question 16

(a) ()
(i1)
® O
(i)
Question 17
(a) (1)
(ii)

The elevation in boiling point when 0-30 g of acetic acid is dissolved in
100 g of benzene 1s 0:0633°C. Calculate the molecular weight of acetic
acid from this data. What conclusion can you draw about the molecular
state of the solute in the solution?

(Given Ky for benzene =2-53 K kg mol”,at. wt. of C= 12, H=1, 0 = 16)

Determine the osmotic pressure of a solution prepared by dissolving
0-:025 g of K2SO4 in 2 litres of water at 25°C, assuming that K>SOy is
completely dissociated.

(R=0-0821 Lit-atm K" mol", mol. wt. of K2SOs= 174 g mol'")
OR

An aqueous solution of a non-volatile solute freezes at 2724 K, while pure
water freezes at 2730 K. Determine the following:

(Given Kr =1-86 K kg mol™, Ky =0-512 K kg mol™' and vapour
pressure of water at 298 K =23-756 mm of Hg)

(1)  The molality of solution
(2) Boiling point of solution
(3) The lowering of vapour pressure of water at 298 K

A solution containing 1:23g of calcium nitrate in 10g of water, boils at
100-975°C at 760 mm of Hg. Calculate the van’t Hoff factor for the salt at
this concentration.

(Ko for water = 0-52 K kg mol™', mol. wt. of calcium nitrate = 164 g mol™)

Write the [UPAC names of the following complexes:
(1) [Cu(NH3)4]SO4 :

(2)  [Co(en):Cly]

(3) K;3[Al(C204)3]

With reference to the coordination complex ion [Fe(HzO)5]2+ answer the

following: (at. no. of Fe = 26)
(1)  Give the [IUPAC name of the complex ion.
(2)  What is the oxidation number of the central metal atom?
(3) How many unpaired electrons are there in the complex ion?
(4) State the type of hybridisation of the complex ion.

OR

5]

[5]
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(b) (i) Name of the type of isomerism exhibited by the following pairs of
compounds:

(1) [Co(ONO)(NH3)s]** and [Co(NO2)(NH3)s]**
(2) [Cr(H20)4Cl2] C1.2H20 and [Cr(H20)sCl]Cl;.H20
(3)  [Co(NHs)s] [Cr(CN)s] and [Cr(NH3)s] [Co(CN)s]

(i) Using the valence bond approach, predict the shape, hybridisation and
magnetic behaviour of [Ni(CO)4]. (at. no. of Ni =28)

Question 18 [5]
(a) (i)  Give balanced chemical equations for the following reactions:

(1)  Phenol is treated with ice cold alkaline solution of benzene
diazonium chloride.

(2)  Diethyl ether is treated with phosphorous pentachloride.
(3)  Ethyl alcohol is treated with thionyl chloride.

(i)  Give one chemical test each to distinguish between the following paiis of
compounds:

(1)  Ethanol and dimethyl ether
(2)  Propan-1-ol and propan-2-ol
¢ OR
(b) (i)  Write chemical equations to illustrate the following name reactions:
(1) Williamson’s synthesis
(2)  Esterification reaction
(3) Reimer-Tiemann reaction

(1)  Identify the compounds A and B in the given reactions:

) cmon-CL, 4 dINOH , 5

o)
(2) Zndust CHCOCE .
é —— Lanhy-AICL, ] >B
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COMPUTER SCIENCE
PAPER 1

(THEORY)
(Maximum Marks: 70)
(Time allowed: Three hours)

(Candidates are allowed additional 15 minutes for only reading the paper.
They must NOT start writing during this time.)

Answer all questions in Part I (compulsory) and six questions from Part-II, choosing two
questions from Section-A, tweo from Section-B and two from Section-C.

All working, including rough work, should be done on the same sheet as the
rest of the answer.

The intended marks for questions or parts of questions are given in brackets [ ].

PART I (20 Marks)
Answer all questions.
While answering questions in this Part, indicate briefly your working and reasoning,

wherever required.
Question 1
(a) State the properties of zero in Boolean algebra. [1]
(b)  Find the complement of the following Boolean expression using [1]

De Morgan’s law:
F(PstR) =P (Q'I i R)

(c) Find the dual of: (A’ +0) - (B'+ 1) = A’ [1]
- (d) State whether the following proposition is a tautology, contradiction or a 1]
contingency: -
b= (== ViR —=-F)
(e) Study the diagram given below and answer the questions that follow: [1]
A
2 X
B

(1)  Name the basic gate which is represented by the diagram.
(i)  What will be the value of X when A=1 and B=0 ?

This Paper consists of 8 printed pages.
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Question 2

(a) State the difference between a Binary Tree structure and a single Linked List.

(b) A matrix B[10][20] is stored in the memory with each element requiring 2 bytes of
storage. If the base address at B[2][1] is 2140, find the address of B[5][4] when the

matrix is stored in Column Major Wise.
(c)  Convert the following infix notation to prefix form:
X+Y)/(Z*W/V)
(d)  State the best case and the worst case complexity for bubble sort algorithm.

(¢)  What is the significance of the keyword ‘new’ in Java? Mention the areas where it
is used. -
Question 3

The following function check( ) is a part of some class. What will the function check( )
return when the value of (i) n=25 and (ii) n=10. Show the dry run/ working.

int check(int n)
{ if(n<=1)
return 1;

if( n%2==0)
- return 1 + check(n/2);
else
return 1 + check(n/2 + 1);

PART - II (50 Marks)

Answer six questions in this part, choosing two questions from
Section A, two from Section B and two from Section C.

SECTION - A
Answer any two questions.

Question 4

(@  Given the Boolean function: F(A,B,C,D)=X(0,1,2,3,4,5,8,9, 10,11, 12,13,14).

(i)  Reduce the above expression by using 4-variable Karnaugh map, showing the
various groups (i.e. octal, quads and pairs).

(i) Draw the logic gate diagram for the reduced expression. Assume that the
variables and their complements are available as inputs.

(2]
2]

(2]

(2]
(2]

[5]

[4]

(1]

2
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(b)  Given the Boolean function: F(A, B, C,D) = m (3,4, 6,9, 11, 12, 13, 14, 15).
(i)  Reduce the above expression by using 4-variable Karnaugh map, showing the
various groups (i.e. octal, quads and pairs).

(i) Draw the logic gate diagram for the reduced expression. Assume that the
variables and their complements are available as inputs.

Question 5

(a). Draw the logic circuit diagram for an octal to binary encoder and explain its working
when a particular digit is pressed. Also, state the difference between encoders and
decoders.

(b)  Draw the circuit of a two input XOR gate with the help of NOR gates.

(c)  Convert the following expression to its cardinal SOP form:
F(P,QR)=P'QR +P'QR + PQR’ + PQR’

Question 6

(@ A company intends to develop a device to show the high status power load for a
household invertor depending on the criteria given below:

» If Air conditioner and Geyser are on
OR

o If Air conditioner is off, but Geyser and Refrigerator are on
OR :

@ If Geyser is off, but Air conditioner and Water purifier are on
OR

& When all are on

The inputs are:

INPUTS
A Air conditioner is on
G Geyser 1s on
R Refrigerator is on
W Water purifier is on

(In all the above cases 1 indicates yes and 0 indicates no.)
Output : X [1 indicates high power, 0 indicates low power for all cases]

Draw the truth table for the inputs and outputs given above and write the SOP
expression for X(A,G,R,W).

(b)  Draw the truth table and derive an SOP expression for sum and carry for a full adder.
Also, draw the logic circuit for the carry of a full adder.

(c)  Simplify the following expression using Boolean laws:
P Y)Y +2) | + (X +Z)

3

1220-868A Turn over

[4]

(1]

5]

[3]
[2]

[5]

3]

2]



SECTION -B
Answer any two questions.

Each program should be written in such a way that it clearly depicts the logic of the problem.

This can be achieved by using mnemonic names and comments in the program.
(Flowcharts and Algorithms are not required.)

The programs must be written in Java.

Question 7

Design a class Convert to find the date and the month from a given day number for a

particular year.

Example: If day number is 64 and the year is 2020, then the corresponding date would be:
March 4, 2020 i.e. (31 +29 +4 =64)

Some of the members of the class are given below:

Class name . Convert
Data members/instance variables:
n . integer to store the day number
d . integer to store the day of the month (date)
. m integer to store the month
y :  integer to store the year
Methods/Member functions:
Convert () :  constructor to initialize the data members with
legal initial values
void accept( ) :  to accept the day number and the year
void day to_date() . converts the day number to its corresponding

date for a particular year and stores the date in
‘d’ and the month in ‘m’

void display( ) :  displays the month name, date and year

Specify the class Convert giving details of the constructor( ), void accept( ),
void day_to_date( ) and void display( ). Define a main( ) function to create an object
and call the functions accordingly to enable the task.

Question 8
Design a class BinSearch to search for a particular value in an array.

Some of the members of the class are given below:

Class name :  BinSearch
Data members/instance variables:

arr| ] . to store integer elements

n :  integer to store the size of the array
Member functions/methods:

BinSearch(int nn ) :  parameterized constructor to initialize n=nn
void fillarray() - :  to enter elements in the array
4
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void sort( ) . sorts the array elements in ascending order using
any standard sorting technique

int bin_search(int L,int u,int v) . searches for the value ‘v’ using binary search
and recursive technique and returns its location
if found otherwise returns -1

Define the class BinSearch giving details of the constructor( ), void fillarray( ),
void sort( ) and int bin_search(int,int,int). Define the main() function to create an object
and call the functions accordingly to enable the task.

Question 9

A class Mix has been defined to mix two words, character by character, in the following
manner:

The first character of the first word is followed by the first character of the second word and
so on. If the words are of different length, the remaining characters of the longer word are
put at the end.

Example: If the First word is “JUMP” and the second word is “STROLL”, then the required
word will be “JSUTMRPOLL”
Some of the members of the class are given below:
Class name :  Mix
‘Data member/instance variable:
wrd - . to store a word
len :  to store the length of the word

Member functions/methods:

Mix( ) . default constructor to initialize the data
members with legal initial values

void feedword( ) . to accept the word in UPPER case

void mix_word( Mix P, Mix Q) : mixes the words of objects P and Q as stated

above and stores the resultant word in the
current object

void display( ) . displays the word
Specify the class Mix giving the details of the constructor( ), void feedword( ), void

mix_word( Mix, Mix ) and void display( ). Define the main() function to create objects
and call the functions accordingly to enable the task.
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SECTION -C
Answer any two questions.

Each program should be written in such a way that it clearly depicts the logic of the problem
Stepwise.

This can be achieved by using comments in the program and mnemonic names or pseudo codes
for algorithms. The programs must be written in Java and the algorithms must be written in
general /standard form, wherever required / specified.

(Flowcharts are not required.)

Question 10

A Circular queue is a linear data structure which works on the principle of FIFO,
enables the user to enter data from the rear end and remove data from the front end
with the rear end connected to the front end to form a circular pattern. Define a class
CirQueue with the following details:

Class name :  CirQueue

Data members / instance variables:

cql ] . array to store the integers

cap . stores the maximum capacity of the
array

front : :  to point the index of the front end

rear :  to point the index of the rear end

Member functions:

CirQueue (int max) *  constructor to initialize the data
member cap=max, front=0 and
rear=0

void push(int n) to add integer in the queue from the

rear end if possible, otherwise
display the message “QUEUE IS
FULL”

int pop( ) : * removes and returns the integer
from the front end of the queue if
any, else returns -9999

void show( ) ¢ displays the queue elements

(a) Specify the class CirQueue giving details of the functions void push(int) and [4]
int pop( ). Assume that the other functions have been defined.

The main function and algorithm need NOT be written.

(b) How is a linear queue structure different from a circular queue structure? [1]
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Question 11

An interface Data is defined with a data member and a method volume( ) which returns the [5]
volume of the implementing shape. A super class Base has been defined to contain the radius

of a geometrical shape. Define a sub clasz CalVol which uses the properties of the interface
Data and the class Base and calculates the volume of a cylinder.

The details of the members of the interface and both the classes are given below:

Interface name

Data member:
double pi

Member functions/methods:
double volume( )

Class name:

Data member/instance variable:

rad
Member functions/methods:
Base(...)

void show( )
Class name:

Data member/instance variable:

ht
Member functit;ns:‘methods:
CalVol(...)

double volume( )

void show( )

Data

initialize pi = 3.142

Base
to store the radius in decimal

parameterized constructor to initialize the data
member

displays the radius with an appropriate message
CalVol

to store the height in decimal

parameterized constructor to initialize the data
members of both the classes

calculates the volume of a sphere by using the
formula ( pi x radius® x height )

displays the data members of both the classes
and the volume of the sphere with appropriate
message

Assume that the interface Data and the super class Base has been defined. Using the concept

of inheritance, specify the class CalVol giving the details of the constructor(...), double

volume( ) and void show( ).

The interface, super class, main function and algorithm need NOT be written.
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Question 12

(@) A linked list is formed from the objects of the class Node. The class structure of the [2]
Node is given below:

class Node
{ .
int n;
Node next;
}

Write an Algorithm OR a Method to find the product of the integer numbers from an
existing linked list.

The method declaration is as follows:
void Product_Node( Node str )

(b)  Answer the following questions from the diagram of a Binary Tree given below:

A
F C
G H B
I D E J
(1)  Write the post-order traversal of the left subtree of the above structure. [1]
(i) State the degree of the Nodes E and H. [1]
(111) Mention the external nodes of the right subtree. ' 1]
8
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HISTORY
(Maximum Marks: 80)
(Time allowed: Three hours)

(Candidates are allowed additional 15 minutes for only reading the paper.

They must NOT start writing during this time.)

Answer Question 1 (Compulsory) from Part I and five questions from Part 11,
choosing two questions from Section A, two questions from Section B
and one question from either Section A or Section B.

The intended marks for questions or parts of questions are given in brackets [ ]

PART I (20 Marks)
Answer all questions.
Question 1 [20%7]

(1)  Which political party formed ministries in a majority of the provinces after
the elections of 19377

(i)  What was the significance of the Lahore Session of the Musiim League
(1940)? _

(i11) Who was elected President of the All India'Congress at the Haripura
Session in 1938?

(iv) Name any two princely states that had not signed the Instrument of
Accession Accord by 15™ August, 1947.

(v)  Which historical event posed the most serious threat to Indian democracy
in 1975-76?

(vi) What is the significance of December 1963 in the history of Nagaland’s
demand for autonomy?

(vii) What was the most significant contribution of the Janata Party
(1977 — 1979) to the changing face of Indian democracy?

(viil) Name the signatories of the Tashkent Declaration of 1966.

(ix) Which international movement was based on the principles of
Panch Sheel?

(x)  Mention any one social evil against which a campaign was launched by the
Mahila Dakshita Party.

(xi)  Which event transformed World War II into a global conflict?

(xi1) Mention one tactical mistake made by Hitler during World War 11.
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(xii1) State one important objective of the Hundred Flowers Campaign.
(xiv) Name the first Prime Minister of independent Kenya.

(xv) Why was the Berlin wall erected?
(xvi) What is meant by the term détente?
(xvii) Name the policies introduced in the USSR by Gorbachev.

(xviii)) Why is the Civil Rights Act of 1964 considered a landmark in US
legislation?

(xix) Name the book written by Betty Friedan that sparked off the second wave
of American Feminism in the 20" century.

(xx) Explain the meaning of the term Infifada.

PART II (60 Marks)

Answer five questions in all, choosing two questions from Section A, two questions from

Section B and one question from either Section A or Section B.

SECTION A

Questio‘t_l 2
(a) Give an account of the revival of the INA and its contribution to India’s struggle
for freedom under the leadership of Subhash Chandra Bose.

(b) State the'main provisions of the Indian Independence Act.

Question 3
Discuss the linguistic reorganisation of states with reference to:
(a) Andhra
(b) Bombay

Question 4
With reference to India’s foreign policy, discuss the following:
(a) The Kashmir problem and the outbreak of the Indo-Pak war of 1948-49.
(b) The consequences of the Indo-Pak war of 1971.

Question 5

Review the achievements and failures of the Janata Government (1977 — 1979).

(6]

[6]

[6]
[6]

[6]
(6]

[12]
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Question 6
(a) What were the main features of the Towards Equality Report (1974)?

(b) Briefly discuss the efforts made by various Women’s Movements in India to root
out the social evils of dowry and domestic violence.

SECTION B
Question 7
(a) Discuss the significant changes in Mussolini’s foreign policy after 1935, till the
outbreak of World War II.
(b) Why did Britain and France follow a policy of appeasement towards Germany
and Italy?
Question 8

In the context of the civil war and the establishment of the People’s Republic in China,
answer the following questions:

(a) State the causes of the victory of the Communists in the civil war in China in
1949.

(b) What important economic changes were introduced by Mao Tse Tung under the
Great Leap Forward ?

Question 9

The Cuban missile crisis led to an escalation of international tensions and pushed the
world to brink of a nuclear war. Discuss.

Question 10
In the context of protest movements in the USA, discuss the following:

(a) The significant change in the attitude of the government towards racial
discrimination in USA.

(b) Theimpact of the Presidential Commission on the Feminist Movement in USA
(1960s — 1980s). :

Question 11

(a) To what extent was Nasser responsible for the Suez War of 1956?
(b) State the consequences of Suez War of 1956.

[6]
[6]

[6]

[6]

[6]

[6]

[12]

[6]

[6]

[6]
[6]
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POLITICAL SCIENCE
(Maximum Marks: 80)

(Time allowed: Three hours)
(Candidates are allowed additional 15 minutes for only reading the paper.
They must NOT start writing during this time.)

Answer Question 1 (compulsory) from Part 1, and five questions from Part II,
choosing three questions from Section A and two questions from Section B.

The intended marks for questions or parts of questions are given in brackets [ ].

PART I (20 Marks)
Answer all questions.

Question 1
Answer briefly each of the questions (i) to (x). [10 x 2]

(i)  Identify two key points of difference between a parliamentary and a
presidential system.

(i)  Distinguish between a written constitution and an unwritten constitution.

(iii) State two reasons for the widespread acceptance of Universal Adult
Franchise.

(iv)  State one electoral function of the Parliament of India.
(v)  Distinguish between the political executive and the permanent executive.

(vi) State one area where the Supreme Court of the United States exercises
original jurisdiction.

(vii)  State why the Indian constitution is characterised as partly rigid and partly
fexible.

(viii)  State two Gandhian Directive Principles that find a place in Part IV of the
Constitution of India.

(ix)  Which authority is charged with the conduct of local self-government
elections under the 73" Amendment to the Constitution of India?

(x)  Briefly explain the meaning of regionalism in the Indian context.
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PART II (60 Marks)
SECTION A

Answer any three questions.

Question 2

(@)  Distinguish between fotalitarian states and liberal democratic states.

(b)  India is described as a federal state with subsidiary unitary features. Explain.

Question 3
(a) Explain rhree functions of political parties.
(b)  Discuss three merits of a multi-party system.

Question 4
(a) Explain three powers of the House of Representatives.

(b)  Discuss three ways in which the Lok Sabha exercises control over the executive.

Question 5

(a) Critically examine the role of the President in the Constitution of India.
(b)  Briefly explain three functions of the permanent executive (civil service).

Question 6
(a)  Critically examine judicial review with reference to India.

(b)  With reference to the Supreme Court of the United States explain rhree

principles (maxims) of Judicial Review.

(6]
[6]

[6]
6]

[6]
[6]

[6]
[6]

[6]
[6]
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SECTION B
Answer any two questions.
Question 7
(a) Explain any three Salient Features of the Constitution of India.

(b) What rights are conferred under the Right to Freedom of Religion in Articles 25
to 28 of the Constitution of India?

Question 8

(a) Explain the composition of the Zila Parishads.

(b) Discuss three challenges faced by urban local self-government institutions in -
India.

Question 9

(a) Explain three ways in which communalism affects the functioning of Indian
democracy.

(b) Critically discuss the role of caste in Indian politics.

(6]
[6]

[6]
[6]

(6]

[6]
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ACCOUNTS
(Maximum Marks: 80)
(Time allowed: Three hours)
(Candidates are allowed additional 15 minutes for only reading the paper.
They must NOT start writing during this time.)

Part I of Section A is Compulsory.
Answer any 4 Questions from Part IT of Section A and any two questions from
either Section B or Section C.
The intended marks for questions or parts of questions are given in the brackets [ ].
Transactions should be recorded in the answer book.
All calculations should be shown clearly.

All working, including rough work, should be done on the same page as, and adjacent to, the
rest of the answer,

SECTION A
PART I (12 Marks)

Answer all questions.

Question 1 [6 x 2]
Answer briefly each of the following questions:

(1) Why is goodwill considered to be an intangible asset and not a fictitious asset?

(i) How will a firm deal with a situation when its partnership deed provides for
interest on capital, but the profit earned by it is not enough to do so, at the rate
mentioned in the deed?

(iii) State with reason whether Securities Premium Reserve can be used by a
company to write off the discount allowed to its debtors.

(iv)  List any four items that are shown under the sub-head *Other Current Assets’
in the Balance Sheet of a company prepared as per Schedule III of the
Companies Act, 2013.

(v)  What is the maximum limit of debentures which companies, other than
Banking Companies and All India Financial Institutions, can redeem out of
capital?

(vi) (a) Mention any rwo circumstances which can lead to dissolution of
partnership.

(b)  What is the status of the firm upon the dissolution of partnership?
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PART II (48 Marks)
Answer any four questions.

Question 2

(A) From the following information, calculate goodwill of the firm of Anmol [4]
and Sujay at the time of admission of Dhruv:
(i) At three years®’ purchase of Super Profit.
(ii)  On the basis of Capitalisation of Super Profit.
(a)  Actual Average Profits of the firm for the last three years is

T 25,000.
(b) Normal Rate of Return is 10%.
(c) Balance Sheet of Anmol and Sujay
As at 31* March, 2019
Liabilities Amount (T) Assets Amount (T)
Sundry Creditors 40,000 | Plant and Machinery 40,000
Bills Payable 10,000 | Land and Building 80,000
General Reserve 20,000 | Investments (Non-trade) 50,000
Capital Accounts: Sundry Debtors 15,000
Anmol 80,000 Bank 55,000
Sujay 90,000 1,70,000
Z 2,40,000 2,40,000
B) Manoj, Hari and Karan are partners in a firm sharing profits and losses in the
Manoj, Hari Kar in a firm shari fits and in th 8]

ratio 4:2:1. Their Balance Sheet as at 31* March, 2019, was as follows:

Balance Sheet of Manoj, Hari and Karan
As at 31* March, 2019

Liabilities | Amount (%) Assets Amount ¥)
Sundry Creditors | 32,600 | Piant and Machinery 20,000
Bills Payable [ 4,000 | Goodwill 7,000
General Reserve | 8,400 | Stock 38,000
Capital Accounts: ! Bank 20,000
Manoj 16,000 |
Hari 14,000 l s
Karan 10,000 | 40,000
85,000 85,000
Ml Bl B o -
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Hari retired from the business on 1% April, 2019. The remaining partners
decided to carry on the business. The terms of retirement provided the
following:

(a) Out of the total insurance premium paid, I 7,000 to be treated as prepaid
insurance. The amount was earlier debited to Profit & Loss Account.

(b) General Reserve not to be distributed.
(c) Hari to be paid T 24,400 in full settlement.

You are required to prepare Partners’ Capital Accounts.

Question 3 [12]

Sudesh Ltd. was registered with an authorised capital of ¥ 40,00,000 divided into
4,00,000 Equity Shares of T 10 each.

The company offered 50,000 shares to the public at a premium of 2 per share,
payable as follows:

2 3 on application
% 6 on allotment (including premium)
¥ 3 on first and final call (due two months after allotment)

Applications were received for 60,000 shares and pro-rata allotment was made as
follows:

Category A: The applicants of 40,000 shares were allotted 30,000 shares.
Category B: The applicants of 20,000 shares were allotted in full.
Excess money paid on application was utilized towards allotment.

Nebby, a shareholder from Category A, who had applied for 1,200 shares failed to pay
the allotment and call money.

Vineet, a shareholder from Category B, who had been allotted 1,000 shares, paid the
call money due, along with allotment.

The company forfeited Nobby’s shares after the first and final call and paid interest on
Calls-in-advance to Vineet @ 12% per annum on the day of the final call.

You are required to:

(i) Pass journal entries to record the above transactions in the books of the
company (including entries for interest on Calls-in-advance),

(ii) Prepare Calls-in-arrears Account.
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Question 4

(A) Mike and Ajay are partners sharing profits and losses in proportion to their [8]
capitals, which on 31% March, 2019, stood at ¥ 6,00,000 and ¥ 4,00,000
respectively. On this date, the firm had T 1,00,000 in its Workmen Compensation
Reserve and its outside liabilities amounted to ¥ 6,00,000, which included
Creditors of ¥ 2,00,000 and Bills Payable of T 60,000.

The firm was dissolved on 31* March, 2019, on which date, the assets, apart
from Cash of ¥ 70,000, realised ¥ 14,00,000 and the liabilities were discharged as

follows:
(a) Creditors due on 31 May, 2019, were paid off at a discount of 3% per
annum. \

(b)  Bills Payable were discharged at a rebate of I 1,000.

(¢) Workmen Compensation Claim of ¥ 40,000 was met.

(d)  Expenses of dissolution amounting to ¥ 30,000 were paid.
You are required to prepare:

(i) Realisation Account.

(ii) Partners’ Capital Accounts.

(B) Xen, Sam and Tim are partners in a firm. For the year ended 31* March, 2019, [4]
the profits of the firm ¥ 1,20,000, were distributed equally amongst them,
without providing for the following provisions of the partnership deed:

(a) Sam'’s guarantee to the firm that the firm would eam a profit of at least
¥ 1,35,000. Any shortfall in these profits would be personally met by
him.

(b) Profits to be shared in the ratio of 2:2:1.

You are required to pass the necessary journal entries to rectify the error
in accounting.

Question 5

(A) Zee Ltd. purchased a running business from Rainbow Ltd. for a sum of [4]
7 6,60,000. Zee Ltd. paid 5% of the purchase consideration by drawing a
Promissory Note in favour of Rainbow Ltd. and the balance by the issue of fully
paid 7% Debentures of ¥ 100 each at a premium of 10%. The assets and
liabilities of Rainbow Ltd. consisted of:

)
Fixed Assets 6,50,000
Sundry Creditors 80,000

You are required to pass the necessary journal entries in the books of
Zee Litd.
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(B) On 1* April, 2016, the following balances appeared in the books of Shikhar Ltd.

10% Debentures Z 14,00,000
Premium on Redemption of Debentures Z 1,40,000
Debenture Redemption Reserve T 75,000

The debentures were to be redeemed at a premium of 10% in rwo equal annual
instalments beginning from 31* March, 2018. To meet the requirements of the
Companies Act, 2013, the company transferred the balance amount to Debenture
Redemption Reserve on 31%* March, 2017. On 30" April, 2017, it met the
requirements of the Companies Act, 2013 regarding Debenture Redemption
Investment and redeemed the debentures on the scheduled dates.

You are required to pass necessary journal entries to record the above
transactions in the books of Shikhar Ltd. (Ignore interest on Debentures).

Question 6

Anita and Tony, each doing business as sole proprietors, started a partnership on
1% April, 2018. Anita brought in Plant and Machinery valued at ¥ 5,00,000 whereas
Tony brought in furniture costing ¥ 50,000 and ¥ 7,00,000 in cash.

Since the business needed more funds, Tony gave a loan of X 2,00,000 to the firm on
30" June, 2018.

Their partnership deed provided for:
(a) Interest on capital to be allowed (@10% per annum.
(b) Interest on drawings to be charged @ 6% per annum.

(c) Anita to be given a commission of 4% on the corrected net profits before
charging commission.

(d) Tony to be given a salary of ¥ 12,000 per annum.

Tony withdrew % 5,000 at the end of every month and Anita withdrew ¥ 30,000
on 1* August,2018. .

The net profit of the firm, for the year 2018-19, affer debiting Tony's salary of
% 12,000 per annum but before considering any interest due to and due from the
partners, was % 4,00,000.

You are required to prepare for the year 2018-19:
(i) Profit and Loss Appropriation Account.
(ii) Partners’ Capital Accounts.

[8]

[12]

1220-858 Turn over



Question 7

[12]

Smita and Punita are partners in a firm sharing profits and losses in the ratio of 3:2.

Their Balance Sheet as at 31% March, 2019, is as follows:
Balance Sheet of Smita and Punita

As at 31% March, 2019

Liabilities Amount () Assets Amount (%)
Sundry Creditors 14,000 | Cash in hand 30,000
Bank Loan 6,000 | Sundry Debtors. 22,000
General Reserve 10,000 | Less Provision for

doubtful debts (2000) 20,000

Capital Accounts: Furniture 10,000

Smita 30,000 Stock 40,000
Punita 40,000 70,000

1,00,000 1,00,000

On 1# April, 2019, Mita is admitted as a new partner on the following terms:

(a) The new profit sharing ratio of Smita, Punita and Mita to be 5:3:2.
(b) Provision for doubtful debts to be raised to 10% of the debtors.

(¢) Punita to take over the firm’s investments (not recorded in the books) at ¥ 3,000.

(d) Goodwill of the firm to be valued at ¥ 50,000, Mita to bring in cash for her share

of goodwill.

(e) 50% of the goodwill to be withdrawn by the old partners.

(f) Mita to pay off the Bank Loan on behalf of the firm. The amount due to her by

the firm, to be considered as part of her capital contribution.

(g) Mita to bring in the balance of her capital in cash, so as to make her capital equal
to 1/5™ of the total capital of the firm.

You are required to:
(i) Pass journal entries at the time of Mita’s admission.

(ii) Prepare the Balance Sheet of the reconstituted firm.

Question 8

(A) Xylo Ltd. was formed on 1* April, 2017, with an authorized capital of

£ 12,00,000 divided into Equity Shares of ¥ 10 each. It issued a prospectus

8]

inviting applications for 30,000 shares to be issued at par, The issue was fully

subscribed and the amount due on the shares was received by the company.

On 1*" April, 2018, the company issued another 60,000 shares at a premium of

Z 2 per share to be received with allotment. Applications for 55,000 shares

were received which were duly allotted.

1220-858
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All the amounts due on these shares were received except the final call of
Z 2 per share on 1,000 shares.

On 1* October, 2018, the company also issued 2,000 6% debentures of I 100
each at par, to be redeemed at par in five equal annual instalments beginning
from 1* October, 2019. The entire issue price of these debentures was received
by the company with application.

Half yearly interest on the debentures of ¥ 6,000 was paid by the company to
the debenture holders on 31% March, 2019.

You are required to show the relevant items under:

(i) Equity and Liabilities in the Balance Sheet of the Company as at
31* March, 2019 (prepared as per Schedule III of the Companies Act,
2013).

(ii) Notes to Accounts.

(B) Under which heads and sub-heads will the following items appear in the [4]
Balance Sheet of a company as per Schedule III of the Companies Act, 2013:

(i) Trade Debtors
(ii) Marketable Securities
(ii1) Finished Goods

(iv) Patents
- SECTION B (20 Marks)
Answer any twe questions
Question 9 _
(A)  Assuming that the current ratio of a company is 0-7 : 1, mention whether this [2]

ratio would increase, decrease or not change after the following transactions:

(i) Payment of % 15,000 made to a creditor.
(ii) Purchase of inventory worth ¥ 1,00,000 on credit.

(B) Prepare a Comparative Statement of Profit and Loss of Cosmos Ltd. from [6]
the following information:

Particulars 31.03.2019 31.03.2018
Revenue from Operations Z 20,00,000 7 10,00,000
Purchases of stock-in-trade T 12,00,000 Z 6,00.000
Charge in Inventories of Stock-in-trade 25% of 20% of

purchases of purchases of

stock-in trade stock-in trade
Other Expenses % 1,00,000 ¥ 80,000
Tax Rate 40% 40%

7
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From the following extract of the Balance Sheet of Regal Litd., taking into

121

consideration the additional information, you are required to calculate the
amounts of the following items to be shown in the company’s Cash Flow

Statement for the year 2018-19:

(i)
(i)

Fixed asset purchased.

Fixed asset sold.

(iii) Profit/Loss on sale of fixed asset.

(iv) Depreciation charged on fixed assets.

Particulars

31.03.2019 () 31.03.2018 ()

Fixed Asset

4.90,000

6,00,000

Additional information:

(1)

The provision for depreciation on fixed assets stood at T 1,40,000 on

31% March, 2018 and % 1,80,000 on 31 March, 2019.

(ii)

Question 10

During the year 2018-19, a fixed asset costing T 60,000 (book value
T 30,000) was sold for T 20,000.

[10]

You are required to prepare a Cash-Flow Statement (as per AS-3) for the year

2018-19 from the following Balance Sheets.
. Balance Sheets of Hillock Ltd.

As at 31* March, 2018 and 31 March 2019

Particulars | Note | 31.3.2019 31.3.2018
No. (9] (L9)
I. EQUITY AND LIABILITIES
1. Shareholders’ Funds:
(a) Equity Share Capital 2,50,000 2,00,000
(b) Reserves and Surplus 1 90.000 50,000 |
2. Current Liabilities:
(a) Short-term Borrowings | 10,000
(Bank overdraft)
(b) Trade Payables 20,000 15,000
(¢) Other Current Liabilities 2 5,000 5,000
s !
(d) Shorbterm_l’mwsmns . 25.000 20.000
(Provision for Tax)
Total 3.90.000 3.00.000
l i
8
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II. ASSETS
1. Non-Current Assets:
Fixed Assets
Tangible 2,55,000 2,35,000
2. Current Assets:
(a) Current Investments 30,000 A
(b) Inventories 15,000 25,000
(c) Trade Receivables 40,000 10.000
(d) Cash and Bank Balances 50.000 30.000
Total __3.90.000 3,00,000
Notes to Accounts:
Particulars 31.3.2019 31.3.2018
X) )
1. Reserves and Surplus
Balance in Statement of Profit and Loss 70,000 40,000
Securities Premium Reserve 20,000 10,000
90,000 50,000
2. Other Current Liabilities
Outstanding Expenses 1,000 5,000
Unclaimed Dividend 4,000 --
5,000 5,000
3. Contingent Liability
Proposed Dividend 5,000 10,000
Additional Information:
During the year 2018-19:
(i) A tangible fixed asset costing ¥ 50,000 was purchased.
(i)  Tax paid ¥ 15,000,
(i)  Interest of ¥ 1,000 was paid on the bank overdraft.
1220-858 Turn over



Question 11
(A) State the objective of calculating Liquidity Ratios.

(B) From the following information, calculate Earnings per share (up to two
decimal places):
Particulars
10% Preference Share Capital T 6,00,000
Equity Share Capital (3,00,000 shares of 10 each) % 30,00,000
Profit before Tax % 15,00,000
Tax Rate 30%
(C) From the following information, calculate the following ratios (up to two
decimal places):
(i) Debt to Total Assets Ratio
(i) Proprietary Ratio
(iii) Imventory Turnover Ratio
Particulars R“}
Fixed Assets 14,00,000
Current Assets (including inventory of T 2,00,000) 10,00,000
Shareholders’ Funds 14,40,000
Non- Current Liabilities (10% Long-term Bank Loan) 8,00,000
Current Liabilities 5,00,000
Revenue from Operations 15,00,000
Gross Profit 6,00,000
SECTION C (20 Marks)
Answer any two questions.
Question 12

12]
12]

(6]

(a) You enter 50+16 in a cell. The worksheet does not display 66 in the cell, instead

it shows 50 + 16. What is the reason for this?

(b) Explain the meaning of the following functions:

(1) Count(C15:30)
(ii) Max(A4:A10)
(¢) What is Auto filling?
(d) What does the error # VALUE mean?

(e) Give the full form of SQL.

10
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Question 13

The spread sheet below shows the sales of Nippon Ltd. made by four salesmen in the
four quarters of the financial year 2018-19:

e —e ST e
1 Sales in f
| Salesman | Qtrl |Qtr | Qtr3 | Qtr4 | Total | Commission | Commission
2.| No. 2 Sales | @8% of @5% of
J sales sales
3|sl1 7000 | ? | 8500 | 9500
| 4] S2 6000 | 7000 | 8400 | 9200
[ 5783 7200 | 8000 | 9300 | 9000
61 54 9100 | 9000 | 9600 | 8700
7 | Total

Answer the following questions based on the above spreadsheet:

(a) It 1s the policy of the company to sell its goods at a profit of 25% on cost.

Write the formula to calculate:

(i)  The profit made on the goods sold by Salesman No. S2 in Qtr 3.

(i) The cost of goods sold by Salesman No. S3 in Qtr 4.

(111) The total cost of the goods sold by the company in cell F7.

(b) Calculate the price at which Salesman No. S1 would have made sales in Qtr 2 if
the profit made on the sales was ¥ 1,500.

(c) Write an expression to show the effect on the profits, if the rate of commission
was reduced from 8% to 5% of the sales.

Question 14

(a) What is meant by the terms Back-end and Front-end as used in data
applications?

(b) Define:

(i) Table
(i) Field

(c) Name any two business applications of DBMS

(d) Give any two features of a primary key.

1220-858
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COMMERCE
(Maximum Marks: 80)
(Time allowed: Three hours)

(Candidates are allowed additional 15 minutes for only reading the paper.

They must NOT start writing during this time.)

Answer Question 1 from Part I and any five questions from Part I,

The intended marks for questions or parts of questions are given in brackets [ ].

PART I (20 Marks)

Answer all questions.

Question 1 ; [10x 2]
Answer briefly each of the questions (i) to (x).
(1)  What is meant by Micro-Environment?
(i)  State any two features of a Credit Card.
(1) What is Net Working Capital?
(iv) Give two advantages of Trade Credit, as a source of short-term finance.
(v) Define Management as an activity.

(vi) Moon Ltd. imported new machinery from Germany. However, the
productivity of the business did not improve with the use of this
machinery. On investigation, it was found that the workers were not able
to operate the high-tech machinery effectively, causing poor performance

and wastages. ;
What can be done by Moon Ltd. to overcome the above problem?

(vi1) What is meant by Span of Control?
(viil) Name two types of Markets on the basis of subject of exchange.
(1x) State any two points of difference between Marketing and Selling.

(x) What is meant by Physical Distribution?

This Paper consists of 3 printed pages and 1 blank page.
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PART II (60 Marks)

Answer any five questions.

Question 2

(a)

Explain any three advantages of Debentures from the Debenture holder’s
point of view.

(b)  With reference to the various dimensions of Business Environment, state
what is meant by Political Environment. Mention any three components of
Political Environment.

(¢)  Enumerate any five points of importance of staffing as a function of
management.

Question 3

(a)  Distinguish between a Formal Organisation and an Informal Organisation.

(b)  Explain any four objectives of Communication.

(c)  Define Advertising. Explain any four features of Advertising.

Question 4

(a)  Explain any three sources of External Recruitment.

(b) Give four differences between Taylor’s and Fayol’s Principles of
Management.

(c)  What is meant by RTGS? Give any three features of RTGS.

Question 5

(@  Explain any three factors that you will consider while determining the
Working Capital requirement for a business enterprise.

(b)  Explain four advantages of raising funds from Commercial Banks.

(c)  Explain the first five steps involved in the process of Planning, as a function
of Management.

Question 6

(a)  Explain any three methods of Consumer Protection.

(b)  What are Retained Earnings? Explain any three demerits of Retained
Earnings.

(c)  Define Marketing. Briefly explain any three features of Marketing.
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Question 7
(a)  Explain any three objectives of Publicity, as an element of Promotion Mix.

(b)  What are the various Channels of Distribution available to a Manufacturer in
the process of distribution?

(c)  Give five differences between Pfeﬁerence Shares and Equity Shares.

Question 8
(a)  Explain any three features of Industrial Products.
(b)  Define Management. Briefly explain any three objectives of Management.

(¢)  Explain any five qualities that a good leader should possess.

Question 9
Write short notes on the following:
(a)  Instalment Credit as a source of short-term funds for business.
(b)  Line and Staff Organisation.
(c)  Marketing Research.
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ECONOMICS
(Maximum Marks: 80)

(Time allowed: Three hours)
(Candidates are allowed additional 15 minutes for only reading the paper.
They must NOT start writing during this time.)

Answer Question 1 (compulsory) from Part I and five questions from Part I1.

The intended marks for questions or parts of questions are given in brackets [ ].

PART I (20 Marks)

Answer all questions.

Question 1
~ Answer briefly each of the following questions (i) to (x):
(1)  What is production function?
(i)  Explain the meaning of income effect.
(iii) What is progressive tax?
(iv) State the law of Diminishing Marginal Utility. Mention any two assumptions of
the law.
(v) Differentiate between autonomous capital flow and accommodating capital flow.
(vi) What is meant by MPS? How is MPS related to investment multiplier?
(vii) Briefly explain any one primary function of money.
(viii) Show with the help of a diagram, a situation when change in supply will keep the
equilibrium quantity of the commodity unchanged.
(ix) What is meant by selling cost? Name one market where selling cost is applicable.
(x) What is meant by operating surplus?
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PART II (60 Marks)

Answer any five questions.

Question 2
(a)  Explain the geometric method of calculating elasticity of supply.

(b)  Explain the concept of Diminishing Marginal Rate of substitution and show how it
affects the indifference curve.

(c) The marginal utility schedule of a rational consumer is given below. If the price of a
commodity is Z 35, explain with the help of a diagram, how the consumer attains

equilibrium.
Number of the 1 2 3 4 5
commodity bought -
MU 50 45 40 35 30
Question 3

(a)  Explain any two reasons for the supply curve to be positively sloped.

(b)  Briefly explain how equilibrium price is determined with the help of demand and
supply curves.

(c)  Discuss the three stages of the Law of Variable Proportions with the help of diagrams.
In which stage will a rational producer like to operate? i

Question 4

(a)  When price of commodity X changes from % 40 per unit to X 20 per unit, its demand
increases by 20 units. If price elasticity of demand is 0-5, calculate the initial and the
final quantity demand of commodity X.

(b)  Explain with the help of a diagram, the relationship between MR and TR under
imperfect competition.

(¢)  Using diagrams, explain the concepts of:
(i) Shut-down point

(ii) Break-even point of a firm in perfect competition under short run.

Question 5

(@)  Give reasons for the following:
(i) TC and TVC curves do not start from the same point.

(i1) ATC and AVC curves do not touch each other.

(b)  Explain any two factors affecting the demand of a commodity, other than its price.
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(c)  Differentiate between perfectly competitive market and monopolistically competitive
market on the basis of the following:

(1) Nature of the product
(1)  Price influence :
(ii))  Relationship of AR and MR

(iv) Demand curve

Question 6
(a)  Discuss two methods of Redemption of public debt in an economy.

(b)  How is fiscal deficit different from primary deficit? Explain one implication of fiscal
deficit.

(c)  Discuss any four causes of adverse Balance of Payments of a country.

Question 7
(a)  Mention the components of M;, M2 and M3 measures of money supply by RBL
(b)  Explain the following functions of the Central Bank:
(1) Custodian of foreign exchange reserves._
(i)  Lender of the last resort.

(c)  Discuss the different ways in which commercial banks extend loans to their
customers.

Question 8

(a)  Briefly explain the mechanism of the investment multiplier with the help of a
schedule. Take initial increase in autonomous investment as Z 1000 crores and MPC
as 0-8.

(b)  Briefly discuss components of Aggregate Demand in an economy.

(c)  Explain the concept of deflationary gap with the help of a diagram. Discuss any two
monetary measures to reduce the gap.

Question 9
(a) How can you obtain:
(1) National income from GDPwmp.

(i)  Personal disposable income from personal income.
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(b)  With the help of relevant examples, explain the meaning of leakages and injections
in the circular flow of income.

(¢)  From the following data, calculate GNPrc, NDPrc and national income:

Item Zin crores
(1) Private final consumpﬁon expenditure 950
(i)  Gross domestic fixed capital formation 370
(ii1)  Consumption of fixed capital 20
(iv)  Government final consumption expenditure 410
(v)  Closing stock 300
(vi)  Subsidy : 80
(vii)  Net exports (-)50
(viii) Wages and salaries 780
(ix)  Net factor income from abroad (-)40
(x)  Indirect tax 180
(xi)  Opening stock 150
(xi1)  Profit before tax 200
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